
XvKv Kgvm© K‡jR 

1g el© mgvcbx (3q ce© ) cix¶v 2020 

GKv`k †kªwY 

 evsjv (Avewk¨K) cÖ_g cÎ                    welq †KvW 101 

eûwbe©vPwb Afx¶v 

mgq : 30 wgwbU                                                     c~Y©gvb : 30 

mwVK DËiwU wUK wPý K‡i †`qv n‡jv 
 

[we‡kl ª̀óe¨ : mieivnK…Z eûwbe©vPwb Afx¶vi DËic‡Î cÖ‡kœi µwgK b¤‡̂ii wecix‡Z cÖ`Ë eY©msewjZ e„Ëmg~n n‡Z wVK/m‡e©vrK…ó DË‡ii e„ËwU wPwýZ Ki| cÖwZwU cÖ‡kœi gvb 1|] 

 

1| Ôgvwm-wcwmÕ M‡í †K †Zvjv IVvZ? 

(K) †MvKzj 

(L) KvbvB 

(M) miKvievey √ 

(N) R¸ 

 

2| ej`v Mv‡W©b KZ wLªóv‡ã cÖwZwôZ nq? 

(K) 1908 

(L) 1909 √ 

(M) 1910 

(N) 1987 

 

3| ÔgnvRvMwZK wKD‡iUiÕ iPbvq Kx nIqvq gvby‡li †P‡q wcucov‡K ¸iæZ¡ †ewk †`Iqv n‡q‡Q? 

(K) †PZbvkxj 

(L) cwikÖgx  

(M) mywe‡ePK√ 
(N) MwZkxj 

 

wb‡Pi DÏxcKwU c‡ov Ges 4 I 5 bs cÖ‡kœi DËi `vI: 

ÒAjf¨ R‡qi †jv‡f R¡vjvq kni, 

MÖv‡g MÖv‡g cÖvPxb msnwZ †f‡O fMœ¯Í~‡c 

`~‡ii DjøyK euv‡a †Kjøv|Ó 

4| DÏxc‡Ki Ô ~̀‡ii DjøyKÕ Ô†iBb‡KvUÕ M‡íi †Kvb Pwi‡Îi cÖwZwbwaZ¡ K‡i? 

(K) wcIb 

(L) wgwjUvwi √ 

(M) †Rbv‡ij DBbUvi 

(N) wcÖwÝcvj 

 

5| DÏxc‡Ki †Kvb fv‡ei cÖwZdjb Avgiv Ô†iBb‡KvUÕ M‡í j¶ Kwi? 

(K) cvwK¯Ívwb evwnbxi b„ksmZv √ 

(L) RbRxe‡bi wbivcËvnxbZv 

(M) cvwK¯Ívwb evwnbxi †jvf 

(N) Aeiæ× gvby‡li DrKÉv 

 

6| ÔgnvRvMwZK wKD‡iUiÕ MíwU †Kvb MÖ‡š i AšÍM©Z?  

(K) RjR √ 

(L) Avwg Zcy 

(M) UyKzbwRj 

(N) `xcy bv¤^vi Uy 

 

7| Ôevqvbœi w`b¸‡jvÕ cvV K‡i g‡b RvM‡e-  

i. †`k‡cÖg I gvby‡li cÖwZ fv‡jvevmv  

ii. cÖK…wZ‡cÖg I ivRbxwZi cÖwZ fv‡jvevmv  

iii. gvZ„fvlv I gvby‡li cÖwZ fv‡jvevmv -wb‡Pi †KvbwU wVK? 

(K) i I ii 

(L) i I iii√ 

(M) ii I iii 

(N) i, ii I iii 

8| Ò†jv‡f c‡o e¨vsK †_‡K A‡bK UvKv avi K‡i kIKZ| GLb †kva Ki‡Z Zvi Rxe‡bi ¯̂vfvweKZv cÖwZwbqZ bó n‡”Q|Ó -GLv‡b kIK‡Zi 

cwiYwZ Ô†bK‡jmÕ M‡íi †Kvb PwiÎ‡K wb‡ ©̀k K‡i? 

(K) gš¿x 

(L) †igcbby 

(M) †dviw÷qvi 

(N) gvwZj`v √ 



9| Rv`yN‡ii evB‡i iw¶Z bxj Rvj †`Iqvi g¯Í KovB enb K‡iÑ 

i. evsjvi bxj Av‡›`vj‡bi HwZn¨  

ii. bxjKi‡`i AZ¨vPv‡ii BwZnvm  

iii. K…lK‡`i mg„w×i BwZnvm 

wb‡Pi †KvbwU wVK? 

(K) i I ii√ 

(L) i I iii 

(M) ii I iii 

(N) i, ii I iii 

 

10| Ôevqvbœi w`b¸‡jvÕ iPbvq e½eÜy‡K Lye fv‡jvevm‡Zb Ges kÖ×v Ki‡Zb †K? 

(K) wmwfj mvR©b 

(L) mycvwib‡Ub‡W›U 

(M) †WcywU †Rjvi 

(N) my‡e`vi √ 

 

11| AvLZviæ¾vgvb Bwjqvm †Kvb †iv‡M AvµvšÍ n‡q g„Zy¨eiY K‡ib? 

(K) K¨vÝvi√ 

(L) abyósKvi 

(M) K‡jiv 

(N) RwÛm 

 

12| Ô†bK‡jmÕ M‡í †jvB‡mj‡K †Kvb gš¿x Avgš¿Y K‡iwQ‡jb? 

(K) †hvMv‡hvM 

(L) mvs¯‥„wZK 

(M) evwYR¨ 

(N) Rbwk¶v√ 

 

13| Òfimv n‡jv, Avi `gv‡Z cvi‡e bv|Ó KviY- 

(K) e½eÜyi c‡¶ RbgZ m„wó n‡q‡Q 

(L) AvIqvgx jx‡Mi c‡¶ RbgZ m„wó n‡q‡Q 

(M) fvlvi c‡¶ RbgZ m„wó n‡q‡Q √ 

(N) RbMY wb‡R‡`i AwaKvi eyS‡Z †c‡i‡Q 

 

wb‡Pi DÏxcKwU c‡ov Ges 14 I 15 bs cÖ‡kœi DËi `vI: 

 

ÒwZb eQ‡ii bqb‡K wb‡q m`¨ weaev n‡q‡Q †M․ix| wKš‧ •eae¨ MÖnY Ki‡Z bv Ki‡ZB MÖv‡gi cÖfvekvjx cwigj Zv‡K bvbvfv‡e DËß K‡i| G 

wb‡q mgv‡Ri Kv‡Q wePvi †P‡qI wePvi cvqwb †M․ix| Ae‡k‡l cwigj‡K GKw`b euwU w`‡q AvNvZ K‡i †M․ix|Ó 

 

14| DÏxc‡Ki cwig‡ji m‡½ Ôgvwm-wcwmÕ M‡íi †Kvb Pwi‡Îi mv`„k¨ i‡q‡Q? 

(K) †MvKzj-ingvb 

(L) †MvKzj-KvbvB √ 

(M) R¸-‣Kjvk 

(N) KvbvB-miKvievey 

15| DÏxc‡Ki mv „̀k¨c~Y© w`KwU n‡jv-  

i. Avw_©K `xbZv  

ii. PvwiwÎK öjb  

iii. ¶gZvi †`․ivZ¥¨  

wb‡Pi †KvbwU wVK? 

(K) i I ii 

(L) i I iii 

(M) ii I iii√ 

(N) i, ii I iii 

16| ÒG eq‡m Kv‡b Av‡m KZ gš¿YvÓÑ†Kvb ai‡Yi gš¿Yvi m¤§yLxb nq ZiæYiv? 

(K) A‣bwZK 

(L) fv‡jv-g›` √ 

(M) Abychy³ 

(N) K‡g©vc‡hvMx 

 

17| Ô†deªæqvwi 1969Õ KweZvq ÔAwebvkx eY©gvjvÕ ej‡Z †Kvb eY©gvjv‡K †evSv‡bv n‡q‡Q? 

(K) AvaywbK eY©gvjv‡K 

(L) cÖvPxb eY©gvjv‡K 

(M) evsjv eY©gvjv‡K  √ 

(N) D`©y eY©gvjv‡K 



18| wb‡Pi DÏxcKwU c‡ov Ges mswkøó cÖ‡kœi DËi `vI: 

 

ÒAvwg †Zv G‡mwQ Ph©vc‡`i A¶i¸‡jv †_‡K 

Avwg †Zv G‡mwQ mI`vM‡ii wWOvi eni †_‡K|Ó 

 

DÏxc‡Ki welqe ‧̄ ÔAvwg wKse`wšÍi K_v ejwQÕ KweZvq G‡m‡QÑ 

i. wKse`wšÍi K_v n‡q  

ii. c~e©cyiæ‡li K_v n‡q  

iii. cwjgvwUi K_v n‡q 

wb‡Pi †KvbwU wVK? 

(K) i I ii√ 

(L) i I iii 

(M) ii I iii 

(N) i, ii I iii 

 

19| Òbó †¶Z, bó gvV, b`x bó , exR bó, eo bó hLb msmviÓ-PiYwU‡Z Kx dz‡U D‡V‡Q? 

(K) cwi‡ek `~lY 

(L) mvgvwRK RwUjZv 

(M) weiæ× cwi‡ek √ 

(N) cÖvK…wZK wech©q 

 

20| b~ij`x‡bi K_v mviv †`‡k Kx‡mi g‡Zv †b‡g Av‡m? 

(K) eb¨vi cvwbi 

(L) eRªcv‡Zi 

(M) R‡jv”Q¡v‡mi 

(N) cvnvwo X‡ji √ 

 

21| Kwei †PZbviƒc cvwL †Kv_vq e‡m Av‡Q? 

(K) cvb cvZvq 

(L) Wv‡j √ 

(M) †Sv‡ci Ici 

(N) mycvwi cvZvq 

 

22| Ò†jvK †_‡K †jvKvšÍ‡i Avwg †hb Í̄ä n‡q ïwbÓ-Kwe Kx ïb‡Z cvb? 

(K) cvwLi Mvb 

(L) b`xi K‡jøvj 

(M) RbZvi †Kvjvnj 

(N) KweZvi Avmbœ weRq  √ 
23| we‡`wkiv †Kvb Kvi‡Y evOvwj Rb‡Mvôx‡K `gv‡Z cv‡i bv? 
(K) evOvwji mvnwmKZvi 

(L) evOvwji fxiæZvi 

(M) evOvwji msMÖvgkxjZvi √ 

(N) evOvwji AvwfRv‡Z¨i 

 

wb‡Pi DÏxcKwU c‡ov Ges 24 I 25 bs cÖ‡kœi DËi `vI: 

Ò¯^‡`‡ki DcKv‡i bvB hvi gb 

†K e‡j gvbyl Zv‡i cï †mB RbÓ 

 

24| DÏxc‡K Ôi‡³ Avgvi Abvw` Aw¯ Õ KweZvi †Kvb w`KwU cÖKvk †c‡q‡Q? 

(K) we‡`wk‡`i cÖwZ N„Yv 

(L) †kvlK‡`i cÖwZ N„Yv 

(M) ¯‡̂`‡ki cÖwZ ggZ¡ √ 

(N) gvby‡li cÖwZ ggZ¡ 

 

25| Ôi‡³ Avgvi Abvw` Aw¯ Õ KweZvq D³ w`KwU Kwe cÖKvk K‡i‡Qb-  

i. MYgvby‡li wkíx wn‡m‡e wb‡R‡K Dc  ̄vcb K‡i  

ii. RvwZmËv‡K wb‡Ri gv‡S aviY K‡i  

iii. cÖwZkªæwZevb wkíxiƒ‡c wb‡R‡K Dc  ̄vcb K‡i  

 

wb‡Pi †KvbwU wVK? 

(K) i I ii√ 

(L) i I iii 

(M) ii I iii 

(N) i, ii I iii 



26| AvVv‡iv eQi eq‡m Kv‡b Kx Av‡m? 

(K) gš¿Yv √ 

(L) RqaŸwb 

(M) k•LaŸwb 

(N) AvnŸvb 

 

27| Ô†diæqvwi 1969Õ KweZvwU Ñ 

i. †`k‡cÖ‡gi  

ii. MYRvMi‡Yi  

iii. msMÖvgx †PZbvi 

 

wb‡Pi †KvbwU wVK? 

(K) i I ii 

(L) i I iii 

(M) ii I iii 

(N) i, ii I iii√ 
 

28| wb‡Pi DÏxcKwU c‡ov Ges mswkøó cÖ‡kœi DËi `vI: 

ÒGev‡ii msMÖvg gyw³i msMÖvg 

Gev‡ii msMÖvg Avgv‡`i ¯^vaxbZvi msMÖvg|Ó 

 

e½eÜyi Dw³wU Ôb~ij`x‡bi K_v g‡b c‡o hvqÕ KweZvi †Kvb †PZbvi m‡½ mv „̀k¨c~Y©? 

(K) msMÖvgx √ 

(L) HK¨ 

(M) HwZn¨ 

(N) ms¯‥„wZ 

 

29| Òcv meyR, bL Zxeª jvjÓ-Ô‡jvK-†jvKvšÍiÕ KweZvq cOw³wUi gva¨‡g Kx †evSv‡bv n‡q‡Q? 

(K) Kwei †PZbvi iƒc 

(L) evsjvi iƒc‣ewPÎ¨ √ 

(M) †`k‡cÖg 

(N) cvwL‡`i eY©vwj iƒc 

 

30| Ôi‡³ Avgvi Abvw` Aw¯ Õ KweZvq Kwe giY‡K wK e‡j AwfwnZ K‡i‡Qb? 

(K) Avb›` 

(L) gy» √ 

(M) fqsKi 

(N) exfrm  



 
 
 

 
 
 
 
 

Multiple Choice Questions (MCQ) 
 

Tick Mark Right Ans 
 

1. My mouth ________(water) at the sight of them.  

a. water  

b. had watered  

c. watering  

d. had water  

 

2.  Newspaper ________(consider)  as the people‘s parliament.   

a. considers 

b. to be considered  

c. was considered 

d. is considered  

 

3. Dreams can be extraordinarily vivid or very __________.  

a. confused 

b. vague 

c. hidden 

d. vicious 

 

4. The government of Bangladesh has accepted a huge number of Rohingya refugees on ______ ground.  

a. personal 

b. social 

c. humanitarian 

d. financial 

 

5. I prefer swimming to ____ . 

a. walk 

b. walking 

c. walked 

d. having walked 

 

6. All people, not just ___elite few, need 21
st
 century skills to increase their ability. 

a. the 

b. a 

c. x 

d. an 

 

7. ___ Mount Everest is the highest peak in the world. 

a. a 

b. an 

c. the 

d. × 

 

8. Hakaluki haor system provides ___ wide range of economic and non-economic benefits to the local people. 

a. a 

b. the  

c. x 

d. an 

 

9. ―I will do better than that‖, I retorted. ―I will eat nothing ___ dinner tonight‖. 

a. at 

b. on 

c. for 

d. between 
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10.  An old man with steel rimmed spectacles sat ___ the side of the road. 

a. on 

b. at 

c. among 

d. by 

 

11. Interpersonal conflict may occur because of differences _________people.  

a. among   

b. between  

c. with   

d. in 

 

12. He proceeded ____ he had never seen me. 

a. if 

b. though 

c. but 

d. as if 

 

13. I have an appointment with my doctor. I will go out this evening ____ it rains. 

a. even 

b. even if 

c. in spite of 

d. only 

 

14. ____ opening the door? Which one is suitable for the given sentence? 

a. Would you please 

b. Would you mind 

c. Could you please 

d. All of the above 

 

15. He would never have taken the job if he _________ what great demand it would make. 

a. knew 

b. had been knowing 

c. had known 

d. was knowing 

 

16.  We ____________ a holiday since the beginning of this year. 

a. did not have 

b. have not had 

c. are not having 

d. None of these 

 

17. Both religious and secular songs _____ in folk songs. 

a. are including 

b. are included 

c. engaged 

d. being engaged 

 

18. You had better             if you don‘t want to miss the bus.  

a. to hurry  

b. hurrying  

c. hurry  

d. hurried 

19. Have you ever ___ to Khulna? 

a. gone 

b. been 

c. be 

d. being 

20. The correct passive voice of the sentence ―Who planted this tree here?‖  is- 

a. By whom was the tree planted here?  

b. Who the tree had planted here by? 

c. The tree was planted here by whom? 

d. By whom had the tree been planted here? 
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21. ‗In spite of being on time, he could not attend the show‘. Which one is the correct complex form of this 

sentence? 

a. Despite he was on time, he could not attend the show. 

b. Though he was on time, he could not attend the show.  

c. He was on time but he could not attend the show. 

d. Instead of being on time, he could not attend the show.  

 

22.  No other bird is as noisy as a parrot. Which one is the superlative form of this sentence? 

a. A parrot is the noisiest bird.  

b. Parrots are the noisiest birds. 

c. A parrot is one of the noisiest birds. 

d. A parrot is the most noisy.  

 

23.  ―I was very surprised when I heard the news.‖ Mark the exclamatory form of this sentence. 

a. What a surprise the news I heard it was! 

b. How surprised I was when I heard the news!  

c. How surprise I was hearing the news! 

d. None of the above. 

 

24. The readers can also collect _______ (choose the right determiner) chosen copy from the book fair. 

a. an 

b. his 

c. their 

d. mine 

 

25. Hakaluki________(choose the correct appositive) is containing more than 238 interconnecting  beels and 

Jalmahals. 

a. a complex ecosystem 

b. supporting a rich biodiversity 

c. bounded by the Kushiara river 

d. that makes temporary shelters 

 

26. Mandela never lost his resolve_______( use infinitive phrase )for his people‘s emancipation.  

a. to fight   

b. fought   

c. fighting   

d. to fighting 

 

27. The room was in a terrible mess. Choose the correct antonym of the word ―terrible‖. 

a. soothing  

b. frightening 

c. scaring 

d. delectable 

 

28. Folk music is the explicit manifestation of the joys and sorrows of daily life. Choose the correct synonym of 

the word ―explicit‖.  

a. alike   

b. ambiguous   

c. obvious  

d. equivocal  

 

29.  The Negro lives on a lonely island of poverty in the midst of a vast ocean of material prosperity. Choose 

the correct synonym of the word ―prosperity‖.  

a. scarcity   

b. poverty   

c. insufficiency   

d. abundance 

 

30. We can all live harmoniously despite conflicts. Choose the correct synonym of the word ―harmoniously‖  

a. singly   

b. scatteredly    

c. unanimously   

d. gracefully 



XvKv Kgvm© K‡jR 

cÖ_g el© P~ovšÍ (Z„Zxq ce©) cix¶v 2020 

†kªwY : GKv`k 

welq : Z_¨ I †hvMv‡hvM cÖhyw³                                                   welq †KvW : 275 

mgq : 30 wgwbU                                                                        †gvU b¤̂i : 30 

eûwbe©vPwb cÖkœ (MCQ) 

[mwVK DËiwU AvÛvijvBb K‡i †`qv n‡q‡Q] 

1. wek¦MÖvg aviYvi cÖe³v †K?  

K. gvk©vj g¨vKjynvb  L. wUg evb©vm© jx  M. gvK© RyKvi evM©  N. B.Gd. KW 

2. we‡kl †nj‡gU, we‡kl †Møvfm I cv‡q we‡kl hš¿cvwZm¤úbœ Ry‡Zv ci‡Z nq 

 i. fvP©yqvj wi‡qwjwU wbqwš¿Z cwi‡ek Dcjwä Ki‡Z 

 ii. fvP©yqvj wi‡qwjwUi Abyf~wZ iß Ki‡Z 

 iii.fvP©yqvj wi‡qwjwUi SuywK n‡Z gy³ _vK‡Z  

 wb‡Pi †KvbwU mwVK? 

 K. i   L.  iii  M. i I ii   N.  i I iii 

3. ICT wkÿK mvweŸi m¨vi QvÎ‡`i wb‡q j¨v‡e †h‡Z j¨v‡ei `iRvi w`‡K ZvKv‡ZB `iRv Ly‡j †Mj| Zvici QvÎ‡`i gv_vq †nj‡gU cwi‡q 

Av‡jv wbwf‡q wb‡q †Mj mgy`ª •mK‡Z †hLv‡b Zviv •mK‡Z ev Í̄e ¯^v` †cj| 

QvÎiv ev Í̄e ¯^v` cvIqvi mgq †`L‡Z †cj- 

 i.  wØ-gvwÎK `„k¨ ii. wÎ-gvwÎK `„k¨   iii.  K…wÎg RxešÍ `„k¨ 

wb‡Pi †KvbwU mwVK? 

 (K)  i I ii     (L)  i  I iii   (M)  ii  I  iii (N)  i , ii I iii 

4.  Wt Zvjnv Kw¤úDUvi wfwËK K…wÎg cwi‡e‡ki mv‡_ wk¶vbwek‡`i mvR©vwi cÖwk¶Y †`b hv †KvbI SyuwK bv _v‡K| GKRb wjfvi K¨vÝv‡ii 

†ivMx Zuvi Kv‡Q G‡mwQ‡jb Ges wZwb Zv‡K -120 †mw›U‡MÖW ZvcgvÎv w`‡q wPwKrmv w`‡qwQ‡jb| 

cÖwk¶‡Y e¨eüZ cÖhyw³wU n'j- 

K| Kv‡qvmvR©vwi L| K…wÎg eyw×gËv   M| fvP©yqvj ev¯ÍeZv d| RxbZË¡ cÖ‡K․kj 

5. B›Uvi‡bU e¨envi K‡i Kg©ms¯ v†bi my‡hvM‡K Kx e‡j ? 

(K) B-Kgvm©    (L) AvDU‡mvwm©s     (M) B-Mf‡b©Ý     (N) B-e¨emv  

6.  †KvbwU wWGbG - Gi bZzb wm‡Kv‡qÝ •Zwii cÖhyw³ ?  

(K) †R‡bwU·  (L) ev‡qvg¨vwUª·   (M) b¨v‡bv‡UK‡bv‡jvwR    (N) †R‡bwUK BwÄwbqvwis  

7. †KvbwU e¨vw³‡K AwØZxqfv‡e kbv³ Kivi cÖhyw³?  

(K) ev‡qvBbdi‡gwU·  (L) ev‡qvg¨vwUª·   (M) b¨v‡bv‡UK‡bv‡jvwR    (N) †R‡bwUK BwÄwbqvwis  

8. µv‡qvmvR©vwi‡Z e¨eüZ cÖavb Dcv`vb- 

(K) Aw·‡Rb (L) bvB‡Uªv‡Rb   (M)  wg‡_b    (N) nvB‡Wªv‡Rb  

9. ‡Kvb Z‡Ë¡i Dci fvP©zqvj wi‡qwjwU cÖwZwôZ?  

K) giMvb ZË¡   L) wmgz‡jkb ZË¡   M) Kw¤úDUvi ZË¡  N) fvP©zqvj ZË¡  

10. evq‡gwUÖ· e¨venvi Kiv nq- 

K) cwiPq cÎ •Zwi‡Z  L) Jla cÖ¯ÍzZ Ki‡Z  M) bZzb DbœZ cÖvYx m…wó‡Z  N) †mvjvi GbvwR© •Zwi‡Z  

11. A‡b¨i aviYv, M‡elYv, †K․kj, MÖvwd· BZ¨vw`i Drm D‡jøL bv K‡i wb‡Ri bv‡g Pvwj‡q †`Iqvi †K․kj‡K wK e‡j ? 

K. KwcivBU   L. mdUIq¨vi cvB‡iwm   M. †cøwRqvwiRg   N. †WUv cvB‡iwm 

12.  wek^Mªvg cÖwZôvi Dcv`vbmg~n- 

i.  Kw¤úDUvi mswkøó hš¿cvwZ  ii . cÖ‡qvRbxq mdUIq¨vi  iii . B›Uvi‡bU mshy³Zv 

‡KvbwU mwVK? 

K. I, ii    L.  i  , iii  M.  ii , iii  N. i  , ii , iii 



13. DÏxcKwU co Ges wb‡Pi cÖ‡kœi DËi `vIt  

Abycg AbjvB‡bi gva¨‡g MBA wWMÖx AR©b K‡i‡Q| Zvi wKQz eÜz KvbvWv‡Z covïbv K‡i| †m Zv‡`i mv‡_ wbqwgZ †hvMv‡hvM iv‡L| covïbv 

†kl K‡i cÖhzw³i Kj¨v‡Y AvwkK N‡i e‡mB DcvR©b K‡i|  

Avwk‡Ki A_© DcvR©‡bi wm‡÷gwU wK?  

K) B-Kgvm©  L) AvDU‡mvwm©s M) wfwWI Kbdv‡iwÝs  N) n¨vwKs  

14. Lv`¨RvZ ª̀‡e¨i gvb mwVK ivLvi Rb¨ c¨v‡K‡Ui †fZi cÖ‡jc Kivi cÖhyw³ Kx?  

K) †ivewU· L) ev‡qvg¨vwUª· M) ev‡qvBbdi†gwU·  N) b¨v‡bv†UK‡bv‡jvwR 

15. ‡Kvb †¶‡Î fvP©yqvj wi‡qwjwU e¨envi Kiv nq ? 

K. mvgvwRK †hvMv‡hvM  L.  †Mgm& •Zwi  M. Rxe •ewPÎ¨ m„wó‡Z   N. SyuwKc~Y© Kv‡R 

16.  HTML U¨v‡Mi wPý †KvbwU?      

K.   [ ]    L.   { }   M.   ( )   N.   < > 

17.  I‡qe †cR Gi †U·U GwWUi †KvbwU ? 

K.  HTML   L. CSS   M. PHP    N. Note Pad 

18. mvw`qvi •ZwiK…Z I‡qe †c‡R GKwU bZzb Qwe mshy³ Kij| Gi d‡j Zvi †cBRwU Av‡iv „̀wób›`b n‡jv| 

 mvw`qv †h QwewU hy³ K‡i‡Q Zv n‡Z cv‡iÑ 

 i. jpg ii. bmp      iii. png 

bx‡Pi †KvbwU mwVK? 

 K. i I ii  L. i I iii  M. ii, iii  N.  i, ii, iii
 

 19.    Link U¨vM †KvbwU?   

K.  < o1> ...... </o1>     L.  < li> ...... </li>   M.  < a > ...... </a>   N.  < q > ...... </q> 

20. HTML Gi D™¢veK n‡jb    

K. wUg evb©vm© jx   L. wóf Rem  M. gvK© RyKvievM©  N. wej †MUm  

21. HTML G me‡P‡q †QvU AvKv‡ii †U·U cÖ`k©‡bi Rb¨ wb‡Pi †Kvb U¨vMwU e¨envi Kiv nq?  

K.  h1  L.  h3   M.  h4   N.  h6  

22. dviRvbv bZzb I‡qe †W‡fjcvi| †m HTML e¨envi K‡i I‡qe‡cR •Zwi K‡i Ges nvBcviwjs‡Ki KvR K‡i| 

wdviRvbv †h c×wZ‡Z KvR K‡i‡Q Zvi myweav- 

 i.  I‡qe mvB‡Ui GKUv †c‡Ri GK As‡ki mv‡_ GKB †c‡Ri Ab¨ As‡ki  wjsK Kiv hvq 

 ii. I‡qe mvB‡Ui GK †cR †_‡K Ab¨ †c‡R hvIqv hvq 

     iii. GK I‡qe mvB‡Ui mv‡_ Ab¨ I‡qe mvBU wjsK Kiv hvq 

wb‡Pi †KvbwU mwVK? 

 (K) i I ii       (L)  i  I iii   (M)  ii  I  iii   (N)  i , ii I iii 

23. HTML-G †h wj÷ ey‡jU ev cÖZxK w`‡q wPwýZ Kiv nq Zv‡K Kx e‡j? 

K. Order List     L. Un order list   M. Definition list   N.  Number List  

24.  wb‡Pi †Kvb U¨v‡Mi Gwj‡g›U _v‡K bv?  

i) <p>    ii) <img>      iii) <br> 

wb‡Pi †KvbwU mwVK? 

(K)  i I ii  (L) i I iii   (M) ii I iii    (N) i, ii I iii 

25. ‡Wv‡gBb bvg nj -   

K) I‡qe mvB‡Ui GKwU ¯^Zš¿ bvg  L) mvf©v‡ii bvg   M) I‡qe dvB‡ji bvg   N) †dvìv‡ii bvg 

  



 

26. GKwU I‡qe mvB‡Ui 3 b¤̂i †cB‡R 300 x 300 mvB‡Ri pic.jpg  bv‡gi GKwU Qwe mshy³ i‡q‡Q| Z‡e mgm¨v n‡jv mvBUwUi GK †cBR 

n‡Z Ab¨ †cB‡R hvIqv hv‡”Q bv| 3 b¤^i †cB‡Ri Rb¨ cÖ‡hvR¨ HTML †KvWwU n‡jv- 

 (K) <img src ―pic.jpg‖ height=300  

            width=300>     

      (L) <img src ―pic.jpg‖, height=   

            ―300‖ width= ―300‖> 

      (M) <img src = ―pic.jpg‖ height=  

            ―300‖ width= ―300‖>     

      (N)  <img src = ―pic.jpg‖ height=300,  

            width=300> 

27. .÷¨vwUK I‡qemvBU ‣Zwi‡Z e¨en„Z nq-  

 i . HTML     ii. PHP    iii.  CSS   

‡KvbwU mwVK? 

K. i, ii     L. ii, iii     M.  i, iii     N. i, i, iii 

28. wb‡Pi †KvbwU I‡qec„ôvi c~Y© wVKvbv? 

K. < a href = ―www‖ link text <a/> 

L. < a href = ―url‖> link text <a/> 

M. < a href = www.url> link text <a/> 

N. < a href = ―www link text.com‖ link text <a/> 

29. AW©vi wj‡÷ e¨en„Z A¨vwUªweDU - 

i.  Start   ii. Disc    iii.  Type   

‡KvbwU mwVK? 

K. i, ii   L. ii, iii    M.  i, iii   N. i, ii, iii 

30.  †Kvb HTML U¨vMwU WªcWvDb e· •Zwi†Z e¨eüZ nq?  

K)  <option>  L) <frame>  M) <select>  N) <input> 
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[mwVK DËiwU AvÛvijvBb K‡i †`qv n‡q‡Q] 

 

 

1. Who is the pioneer of global village? 

   a. Marshall McLuhan    b. Tim Barners Lee   c. Mark Zuckerberg    d. E. F. Cod 

 

2. Need use special purpose gloves, helmet, shoes for- 

  i. Feeling virtual reality environment.   ii. Learning the realization of virtual reality. 

  iii. Rescue from risk of virtual reality 

   Which one is correct of the following? 

(a). i     (b). iii    (c). i & ii    (d). i & iii 

 

3. ICT teacher Sabbir Sir opened the door as soon as he looked at the lab door to go to the lab with the students. 

The students then put helmets on their heads and turned off the lights and took them to the beach where they got 

a real taste of the beach. 

The students got to see the real taste- 

i. Two-dimensional view ii. Three-dimensional view  iii. Artificial living scene 

Which of the following is correct? 

(A) i and ii   (b) i and iii   (C) ii and iii    (d) i, ii and iii 

 

4. Dr. Talha gives surgery training to the apprentices with computer based artificial environment that seems to be 

real, so that there would be no risk. A liver cancer patient came to him and he gave him treatment with – 120 C 

temperature. 

The technology used  in training is- 

 

a. Cryosurgery  b. Artificial Intelligence  c. Virtual Reality d. Genetic Engineering 

5.  What is the employment opportunity using the Internet called? 

(a) E-commerce   (b) Outsourcing  (c) E-governance  (d) E-business  

 

6.  Which technology is used to create new sequence of DNA? 

(a) Genetics (b) Biometrics  (c) Bioinformatics (d) Genetic Engineering  

7.  Which is used to identify a person uniquely? 

(a) Nanotechnology  (b) Biometrics  (c) Bioinformatics (d) Genetic Engineering  

8.  The main element used in Cryosurgery is -  

(a) Oxygen  (b) Nitrogen  (c) Methane   (d) Hydrogen         

9. In which theorem virtual reality is established? 

a) Morgan Theorem  b) Simulation Theorem  c) Computer Theorem  d) Virtual Theorem  

 

10. Biometrics is used in –  

a) To Make Identity Card                                b) To Make Medicine  

c) To Make New Hybrid Animal  d) To Make Solar Energy  

 

11. What is the technique of carrying on one's own name without mentioning the source of other's ideas, 

research, techniques, graphics, etc.? 

a. Copyright           b. Software piracy             c. Plagiarism                d. Data piracy 

 

12.  Elements of Global Village- 

 i. Hardware       ii. software       iii. Internet Connection 

Which one is correct of the following? 

a.  i          b.  iii        c.  i, iii         d.  i, ii, iii 

 

13. Read the stimulus and answer the question below:  

Anupam has an MBA degree online. Some of his friends are studying in Canada. He keeps in touch with them 

regularly. After finishing his studies, he earns money sitting at home through technology.  

What is Anupam‘s money making system? 

a) E-commerce        b) Outsourcing       c) Video Conferencing      d) Hacking  

 

14. Which of the following technologies is used to put protective-layers on the packaging for quality-control of 

the food-products?      

a. Robotics  b. Biometrics   c. Bioinformatics   d. Nanotechnology 

  



 

15. In which case is virtual reality used? 

a. Social communication   b. Games made   c. In the creation of biodiversity d. Risky work 

 

16. Which one is sign of HTML? 

 a. [ ]               b. { }             c. ( )               d. < > 

 

17.  Which is the text editor of web page? 

a. HTML                 b. CSS                     c. PHP                  d. Note Pad 

 

18. Added a new image to a web page created by Sadia. As a result, his page became more attractive. The image 

that Sadia added may be- 

i. jpg                ii. bmp                iii. png 

Which one is correct of the following? 

a. i and ii         b. i and iii          c. ii, iii          d. i, ii, iii 

 

19. Which one is for link Tag? 

a. < o1> .......</o1>    b. <li> ....... </li>      c. <a > ....... </a>     d.  < q > ........ </q>  

 

20. Who is the creator of HTML? 

a. Tim Birnners Lee   b. Steve Jobs    c. Mark Zuckerberg      d. Bill Gates  

   

21. Which one of the following tag is used to display the smallest text in HTML? 

 a. h1     b. h3              c. h4                d. h6 

 

22.  Farzana new web developer. He creates web pages using HTML and acts as hyperlinks. 

The advantages of the Farzana method are- 

i. One part of a page of a web site can be linked to another part of the same page 

ii. You can go from one page of the website to another 

iii. One web site can be linked to another web site 

Which one is correct of the following? 

a. i and ii          b. i and iii         c. ii, iii              d. i, ii, iii 

  

23. What is a list marked with bullets or symbols in HTML called? 

a. Order List         b. Unorder list          c. Definition list        d. Number List 

 

24.  Which tag of the following doesn‘t have any element? 

i) <p>            ii) <img>             iii) <br> 

Which one is correct of the following? 

(a) i & ii             (b)i & iii               (c) ii & iii              (d) i, ii & iii 

25. Domain name is –  

a) A unique name for the website   b) Name of a server  

c) Name of  a web file    d) Name of a folder 

 

26. On page 3 of a website, there is a picture called pic.jpg in size 300 x 300. However, the problem is that the 

site is not going to go from one page to another. 

The HTML code applicable to page 3 is- 

a. <img src ―pic.jpg‖ height = 300  width = 300> 

b. <img src ―pic.jpg‖, height = "300" width = "300"> 

c. <img src = "pic.jpg" height = "300" width = "300"> 

d. <img src = ―pic.jpg‖ height = 300, width = 300> 

 

27.  Static website is created by- 

i . HTML             ii. PHP              iii. CSS   

Which one is correct of the following? 

a. i, ii        b.  ii, iii   c.  i, iii   d.  i, ii, iii 

 

28. Which one of the following is the full address of a webpage? 

a. <a href = "www" link text <a /> 

b. <a href = "url"> link text <a/> 

c. <a href = www.url> link text <a/> 

d. <a href = "www link text.com" link text <a /> 

 

29.  Attribute used in order list- 

i. Start                ii. Disc               iii. Type   

Which one is correct of the following? 

a.  i, ii                 b.  ii, iii               c.  i, iii              d.  i, ii, iii 

30. Which of the following tags is used to create dropdown boxes?  

a. <option>         b. <frame>          c. <select>           d. <input> 

  



 

XvKv Kgvm© K‡jR 
1g el© P~ovšÍ (3q ce©) cix¶v 2020 

†k«wY : GKv`k 

welq : e¨emvq msMVb I e¨e  ̄vcbv (1g I 2q cÎ )                                 welq ‡KvW : 277 I 278 

 

mgq :  30 wgwbU                                                                                             c~Y©gvb : 30 

mwVK DËi wb‡P †`qv n‡jv 

 

1| GK gvwjKvbv  e¨emvq  I  Askx`vwi  e¨emv‡qi  g‡a¨  ‡Kvb   ‡¶‡Î  Awgj  i‡q‡Q?                 

K. Amxg `vq 

L. gybvdv  AR©b I eÈb 

M. c…_K  mËvnxbZv    

N. mxwgZ  g~jab 

2| wg  Z. Askx`vwi  wfwË‡Z  GKwU  e¨vsK  ¯ vcb  Ki‡Z  Pvb | GRb¨  m‡e©v”P  Avi  KZRb  Askx`vi  wb‡Z  cvi‡eb? 

K. 7 

L. 9 

M. 10 

N. 20 

3| ‡Kvb Askx`vi  e¨emvq  ‡_‡K  Aemi  ‡bIqvi  ci  g~jab  D‡Ëvjb  K‡ib  bv? 

K. AvcvZ`…wó‡Z 

L. AvPi‡Y AbywgZ 

M. bvggvÎ 

N. mxwgZ 

4| Askx`vwi Pyw³‡Z ‡Kv‡bv welq D‡jøL bv _vK‡j Kxfv‡e Zv wb®úwË Kiv nq | 

K. Av`vj‡Z 

L. msL¨vMwiô Askx`v‡ii gZ Abyhvqx 

M. miKv‡ii wb‡ ©̀‡k 

N. Askx`vwi AvB‡b   

DÏxcKwU c‡ov Ges 5 I 6 bs c«‡kœi DËi `vI: 

AvKvk, mvMi I b`x h_vµ‡g 50,000 UvKv , 75,000 UvKv I 1,00,000 g~jab wb‡q Askx`vwi e¨emvq K‡ib | Zv‡`i Nwbó eÜy mwgi‡K 

Zvi L¨vwZ e¨envi I mgcwigvb gybvdvi k‡Z© e¨emv‡q ‡bIqv nq | eQi ‡k‡l Zv‡`i 44,000 UvKv gybvdv nq | 

5 | mwgi ‡Kvb ai‡bi Askx`vi ? 

K. mvaviY 

L. NygšÍ 

M. bvggvÎ 

N. c«wZeÜ 

6| mwgi KZ UvKv  gybvdv cv‡e ?       

K. 10,000 UvKv 

L. 11,000 UvKv 

M. 14,000 UvKv 

N. 22,000 UvKv 

7| ‡KvbwU we‡k¦i c«_g mb`c«vß ‡Kv¤úvwb ? 

K. PvU©vW© e¨vsK Ae BwÛqv 

L. gv‡K©›UvBj e¨vsK Ae BwÛqv 

M. e¨vsK Ae BwÛqv 

N. B÷ BwÛqv ‡Kv¤úvwb 

8| c«vB‡fU wjwg‡UW ‡Kv¤úvwb‡Z b¨~bZg KZRb cwiPvjK _vK‡Z nq ? 

K. 2 

L. 3 

M. 7 

N. 20 

9| gnvgvb¨ ivó«cwZi Aa¨v‡`k e‡j MwVZ ‡Kv¤úvwb ‡KvbwU ? 

K. A-wbewÜZ 

L. wbewÜZ 

M. mb`c«vß 

N. wewae× 

10| ‡Kvb avivwU ‡Kv¤úvwbi Kg©cš vi bKkv ? 

K. D‡Ïk¨ 

L. m¤§wZ 

M. g~jab 

N. `vq 

 

11| evsjv‡`‡k KqwU ‡kqvi evRvi Av‡Q ? 

K. 1 

L. 2 

M. 3 

N. 4 

 



12| Ô¯v̂axb ‡UjÔ Gi  '0707' b¤^‡i ‡dvb K‡i M«vnK  ‡h‡Kv‡bv mgq ¯̂v¯ ¨ msµvšÍ mgm¨vi mgvavb Rvb‡Z cv‡ib| GB ‡mevwU mv¤ú«wZKKv‡ji 

‡Kvb e¨emv‡qi mv‡_ m½wZc~Y© ? 

K. Kj ‡m›Uvi 

L. mvwf©m ‡m›Uvi 

M. AvDU‡mvwm©s 

N. ‡gvevBj mvwf©ms 

13| c…w_exi ‡Kvb ‡`‡k AvbyôvwbKfv‡e c«_g mgevq mwgwZ MwVZ nq ? 

K. Rvcvb 

L. Pxb 

M. hy³ivó« 

N. hy³ivR¨ 

14| AwR©Z gybvdvi KZ Ask eva¨ZvgyjKfv‡e mgevq Dbœqb Znwe‡j Rgv Ki‡Z nq ? 

K. 2% 

L. 3% 

M. 15% 

N. 18% 

15| mgevq mwgwZi MVbZš¿ ‡KvbwU? 

K. Pyw³ 

L. msN¯§viK 

M. msNwewa 

N. Dcwewa 

16| ev‡W©i c«wZôvZv ‡K ? 

K. W. AvLZvi nvwg` Lvb 

L. W. gyn¤§` BDb~m 

M. W. ‡nvm‡b Aviv ‡eMg 

N. ib`v c«mv` mvnv 

 

DÏxcKwU c‡ov Ges 17 I 18 bs c«‡kœi DËi `vI : 

 M«v‡gi 80 Rb K…lK b¨vh¨ g~‡j¨ cY¨ c«vwßi Avkvq GKwU mgevq msMVb M‡o ‡Zv‡j | eQi ‡k‡l Gi 2,00,000 UvKv gybvdv nq | 

 

17 | DÏxc‡Ki msMVbwU ‡Kvb ai‡bi mgevq mwgwZ ? 

K. eûgyLx 

L. weµq 

M. Drcv`K 

N. wgk« 

18| eQi  ‡k‡l  Zviv  m‡e©v”P  KZ  UvKv  eÈb  K‡i  wb‡Z  cvi‡e ? 

K. 36,000 

L. 1,64,000 

M. 1,70,000 

N. 1,94,000 

19| Kg©x  msM«‡ni  evwn¨K  Drm  ‡KvbwU ? 

K. c‡`vbœwZ 

L. k«wgK  ms‡Ni  mycvwik 

M. wefvMxq  mycvwik 

N. PvKwi  ‡gjv 

20| Kv‡Ri  evB‡i  c«wk¶Y  c×wZ  ‡KvbwU ? 

K. ‡KvwPs 

L. c«`k©b 

M. Dcc«‡Kvô 

N. c`  cwieZ©b 

21| Kg©x  wbe©vP‡b  c«v_©xi  c‡`i  c«wZ  AvM«n  ‡Kvb  cix¶vi  gva¨‡g  hvPvB  Kiv  nq ? 

K. `¶Zv 

L. eyw×gËv 

M. c«eYZv 

N. e¨w³Z¡ 

22| Kg©xms¯ v‡bi  FYvZ¥K  c«wµqv  ‡KvbwU ? 

K. Drm  wba©viY 

L. weÁwß c«`vb 

M. Kg©x msM«n 

N. Kg©x wbe©vPb 

 

DÏxcKwU c‡ov Ges 23 I 24 bs c«‡kœi DËi `vI : 

 Rbve  Av‡e`  Z wj. Gi  GgwW |  G  c«wZôv‡bi  weµq  e¨e¯ vc‡Ki  c`  dvuKv  n‡q‡Q | GRb¨  wZwb mnKvix  weµq  e¨e¯ vcK‡`i  

cix¶v  wb‡q  I  Zv‡`i  c~‡e©i  AwfÁZv  we‡ePbv  K‡i  c`wU  c~ib  K‡ib |  



23| Av‡e‡`i weµq e¨e¯ vcK evQvB‡qi KvRwU ‡KvbwUi m‡½ m¤ú…³ ? 

K. Kg©x msM«n 

L. Kg©x wbe©vPb 

M. Kg©x wb‡qvM 

N. Kg©x Dbœqb 

  

24| GB ai‡bi wb‡qv‡Mi d‡j  Z wj. ‡hme myweav ‡c‡Z cv‡i Zv n‡jv -  

i. Af¨šÍixY  Kg©x‡`i  DrmvwnZKiY        ii. Kvh©  cwi‡e‡ki  m‡½  Lvc  LvIqv‡bv               iii.  Drcv`bkxjZv  e…w×                                                      

.    

      wb‡Pi  ‡KvbwU  mwVK ? 

K. i I ii 

L.  i I iii 

M. ii I iii 

N.  i, ii I iii 

 

25| ¶gZv  c«‡qv‡Mi  ai‡bi  wfwË‡Z  ‡bZ…Z¡  KZ  c«Kvi ? 

K. 2 

L. 3 

M. 4 

N. 5 

 

26| KvR‡K  ‡ewk  c«vavb¨  ‡`qv  nq  ‡Kvb  ai‡bi  ‡bZ…‡Z¡ ? 

K. Kg©‡Kw›`«K 

L. Kg©x‡Kw› «̀K 

M. ‡bwZevPK 

N. jvMvgnxb 

 

27| ‡KvbwU  wb‡ ©̀kbv  eySvq ? 

K. mgZvweavb 

L. Drmvn`vb 

M. Dc‡`k c«`vb 

N. we‡kl wPšÍv 

 

28|  civgk©g~jK wb‡ ©̀kbv  KLb  mdj nq? 

K. Aaxb¯ MY  ‡hvM¨  n‡j 

L. Kg©xiv mš‧ó _vK‡j 

M. ‡U«W BDwbqb kw³kvjx n‡j 

N. c«wZôvb eo n‡j 

 

29| ‡d«Ûm dyWm wj. Gi gnve¨e¯ vcK c«wZôv‡bi j¶¨ wba©viY K‡i ‡`b | wKš‧ Kg©x‡`i ‡_‡K wZwb KvR ey‡S ‡bqvi ‡¶‡Î D`vmxb _v‡Kb| 

Kg©xiv ¯̂vaxbfv‡e KvR K‡ib| wZwb ïay Kg©x‡`i c«‡qvR‡b civgk© w`‡q _v‡Kb | ‡d«Ûm dyWm wj.- G ‡Kvb ai‡bi ‡bZ…Z¡ we`¨gvb| 

K. MYZvwš¿K 

L. wcZ…myjf 

M. jvMvgnxb 

N. ‣¯^iZvwš¿K 

 

30 | wb‡gœi ‡KvbwUi mv‡_ wb‡ ©̀kbvi Zyjbv Kiv n‡q‡Q ? 

K. gw Í̄®‥ 

L. ‡PvL 

M. ürwcÛ 

N. nvZ 

 

c«‡kœi DËigvjv (welq : e¨emvq msMVb I e¨e¯ vcbv)                                  

 

1| L  2| L 3| K 4| N 5| M 6| L 7| N 

8| K 9| N 10| K 11| L 12| K 13| N 14| L 

15| N 16| K 17| M 18| L 19| N 20| M 21| M 

22| N 23|L 24| N 25| M 26| K 27| M 28| K 

29| M 30| M 
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mwVK DËi wb‡P †`qv n‡jv 

 

1. In which sector, there is a dissimilarity between sole proprietorship and partnership? 

a. Unlimited liability 

b. Earning and distribution of profit 

c. Absence of single entity 

d. Limited capital 

2. Mr. X wants to establish a Bank on the basis of partnership. Maximum how more partners he can add? 

a. 7 

b. 9 

c. 10 

d. 20 

3. Which partner does not withdraw his capital after his retirement from the business? 

a. Quasi 

b. By holding out 

c. Nominal 

d. Limited 

4. If any topic is not included in the partnership deed, how it will be settled? 

a. By the court 

b. On the basis of the majority partners' opinion 

c. By the government order 

d. By the partnership act 

5. Akash, Sagor and Nodi formed a partnership business by supplying capital of taka 50,000, 75,000 and 100,000 

respectively. Somir is their close friend. They include him in their business to use his goodwill for business 

purpose and agreed to share profit equally. At the end of the year, the business earned profit of taka 44,000. What 

type of partner Somir is? 

a. Ordinary 

b. Dormant 

c. Nominal 

d. Estoppel 

6. Akash, Sagor and Nodi formed a partnership business by supplying capital of taka 50,000, 75,000 and 100,000 

respectively. Somir is their close friend. They include him in their business to use his goodwill for business 

purpose and agreed to share profit equally. At the end of the year, the business earned profit of taka 44,000.  How 

much profit Somir will get? 

a. Tk. 10,000 

b. Tk. 11,000 

c. Tk. 14,000 

d. Tk. 22,000 

7. Which one is the first chartered company in the world? 

a. Chartered Bank of India 

b. Mercantile Bank of India 

c. Bank of India 

d. East India Company 

8. What is the minimum number of director for private limited company? 

a. 2 

b. 3 

c. 7 

d. 20 



9. Which company is formed by the ordinance issued by the honorable president of a country? 

a. Chartered 

b. Registered 

c. Non-registered 

d. Statutory 

10. Which clause designs the action plan for a company? 

a. Object  

b. Consent 

c. Capital 

d. Liability 

11. How many share market/markets is/are in Bangladesh? 

a. 1 

b. 2 

c. 3 

d. 4 

12. Customers of "Shawdhin Tel" can know the solution of health related problems by dialing up at 0707. This 

service is similar to which contemporary business? 

a. Call center 

b. Service center 

c. Outsourcing 

d. Mobile servicing 

13. Which country is the pioneer of the formal Cooperative Society? 

a. Japan 

b. China 

c. United States 

d. United Kingdom 

14. What is the percentage of profit that must be deposited in the Cooperative development fund? 

a. 2 

b. 3 

c. 15 

d. 18 

15. Which is the constitution of cooperative society? 

a. Contract 

b. Memo 

c. Articles 

d. By laws 

 

16. Who is the founder of BARD? 

a. Dr. Akhtar Hameed Khan 

b. Dr. Muhammad Younus 

c. Dr. Hosne Ara Begum 

d. Randa Proshad Saha 

 

17. 80 farmers of a village formed a cooperative society to get goods at reasonable price. At the end of the 

year the society's profit was tk 200,000.What type of cooperative society is stated in above stem? 

a. Multipurpose 

b. Sales 

c. Producers' 

d. Mixed 

18. 80 farmers of a village formed a cooperative society to get goods at reasonable price. At the end of the year 

the society's profit was tk 200,000. What will be the maximum amount of distribution-able profit  

a. Tk. 36,000 

b. Tk 164,000 

c. Tk 170,000 

d. Tk. 196,000 



19. Which is the external source of recruitment? 

a. Promotion 

b. Recommendation of trade union 

c. Recommendation of relevant department 

d. Job fair 

 

20. Which is the Off-the-job training method? 

a. Coaching 

b. Demonstration 

c. Vestibule 

d. Job rotation 

 

21. By which test, the tendency toward the job of the applicant is measured? 

a. Efficiency 

b. Intelligence 

c. Aptitude 

d. Personality 

22. Which is the negative process in staffing? 

a. Determining the source 

b. Serving Circular 

c. Recruitment 

d. Selection 

23. Mr. Abid is the MD of Z Ltd. The post of sales manager was vacant there. Mr. Abid pick out personnel for 

that post from the assistant managers on the basis of test and past experience. Picking out the personnel as sales 

manager by Mr. Abid is related with which function? 

a. Recruitment 

b. Selection 

c. Appointment 

d. Employee Development 

24. Mr. Abid is the MD of Z Ltd. The post of sales manager was vacant there. Mr. Abid pick out personnel for 

that post from the assistant managers on the basis of test and past experience. By this type of picking out, Z Ltd. 

may get benefit of- i. encouraging the internal employees; ii. cope with the work environment; iii. increasing 

productivity.   Which one is correct? 

a. i & ii 

b. i & iii 

c. ii & iii 

d. i, ii & iii 

25. On the basis of power exercise, how many types of leadership are there? 

a. 2 

b. 3 

c. 4 

d. 5 

26. In which leadership style, job gets more priority? 

a. Work oriented 

b. Employee oriented 

c. Negative 

d. Free-rein 

27. Which mean direction? 

a. Balancing 

b. Motivating 

c. Advising 

d. Special thinking 

28. When Consultative direction will be successful? 

a. If  subordinates are qualified 

b. Where employees are satisfied 

c. If trade union is powerful 

d. In large organization 



29. General Manager of Friends Foods Ltd. determines the goal of the organization. But he is careless in 

confirming responsibility from the employees. Employees perform their duty in their own account. He just 

provide advises to the employees if needed. What type of leadership is existing there? 

a. Autocratic 

b. Democratic 

c. Paternalistic 

d. Free-rein 

30. Direction is compared with which organ? 

a. Brain 

b. Eye 

c. Heart 

d. Hand 

Ans (Business Organization and Management)               Subject Code: 277 & 278 

1 b 9 d 17 c 25 c 

2 b 10 a 18 b 26 a 

3 a 11 b 19 d 27 c 

4 d 12 a 20 c 28 a 

5 C 13 d 21 c 29 d 

6 B 14 b 22 d 30 d 

7 D 15 d 23 b   

8 a 16 a 24 d   

 



XvKv Kgvm© K‡jR 
3q ce© cixÿv, 2020 

†kÖwY: GKv`k 

 welq : wnmveweÁvb 1g cÎ (eûwbe©vPbx)  welq †KvW: 253 

mgq: 30 wgwbU c~Y©gvb: 30 

(we:`ª: mKj cÖ‡kœi DËi w`‡Z n‡e| cÖ‡Z¨K cÖ‡kœi gvbÑ1|) 
 

mwVK DËiwU jvj wPý K‡i †`qv n‡jv 

 

1. wnmve Z‡_¨i Af¨šÍixY e¨enviKvix †K? 

 cvIbv`vi Ki KZ…©c¶ e¨e¯ vcK kÖwgK msN 

2. gvwjKvbv ¯^Z¡ n«vm cvqÑ 

 (i) Avq n«vm †c‡j (ii) e¨q e„w× †c‡j (iii) D‡Ëvjb Ki‡j 

 wb‡Pi †KvbwU mwVK ? 

  (i) I (ii)   (i) I (iii)  (ii) I (iii)  (i), (ii) I (iii) 

3. †K Pvjvb cȪ ‘Z K‡ib? 

 we‡µZv gvwjK cvIbv`vi †µZv 

4. 10% evÆv ev‡` RvwKi wbKU n‡Z cvIqv †Mj 1,80,000 UvKv| evÆvi cwigvY KZ UvKv ?  

 1,98,000 1,62,000 20,000 18,000 

5. GKwU m¤ú` e„w× cvq I Ab¨ GKwU m¤ú` n«vm cvqÑ 

 (i) bM‡` m¤ú` µq Kiv n‡j 

 (ii) bM‡` cY¨ weµq Kiv n‡j 

 (iii) bM` UvKv e¨vs‡K Rgv †`qv n‡j 

 wb‡Pi †KvbwU mwVK? 

  (i) I (ii)  (i) I (iii)  (ii) I (iii)  (i), (ii) I (iii) 

6. ¯^vfvweK DØ„Ë †WweU nqÑ  

 (i) D‡Ëvjb 

 (ii) m¤ú` 

 (iii) `vq 

 wb‡Pi †KvbwU mwVK? 

  (i) I (ii)  (i) I (iii)  (ii) I (iii)  (i), (ii) I (iii) 
7. weµ‡qi D‡Ï‡k¨ miÄvg µq Kiv n‡jv| mwVK Rv‡e`v `vwLjv †KvbwU? 

 miÄvg wnmve †WweU; bM`vb wnmve †µwWU  

 µq wnmve †WweU; bM`vb wnmve †µwWU 

 miÄvg wnmve †WweU; e¨vsK wnmve †µwWU  

 µq wnmve †WweU; cvIbv`vi wnmve †µwWU 

 

8. LyPiv bM`vb Znwej e„w× Kivi Rb¨ †Kvb wnmve †WweU Ki‡Z nq? 

 wewfbœ LyPiv LiP wnmve  bM`vb wnmve e¨vsK wnmve    LyPiv bM`vb wnmve 

 

9. †iIqvwg‡j AšÍf©³ nq bvÑ 

 (i) cÖviw¤¢K bM` e¨v‡jÝ 

 (ii) cÖviw¤¢K gRy` cY¨ 

 (iii) cÖviw¤¢K e¨vsK e¨v‡jÝ 

 wb‡Pi †KvbwU mwVK ? 

  (i) I (ii)   (i) I (iii)  (ii) I (iii)  (i), (ii) I (iii) 

 
10. GKwU wnmv‡ei †Ri 160 UvKv †iIqvwg‡ji fyj cv‡k¦© emv‡bv n‡q‡Q| Ab¨vb¨ mewKQy wVK _vK‡j †iIqvwg‡ji ỳB cv‡k¦©i cv_©K¨ KZ UvKv 

n‡e? 

 480 320 160 80 

11. weµq Rv‡e`vq †Kvb cÖgvYcÎ e¨envi Kiv nq?  

 †WweU †bvU  †µwWU †bvU  †WweU fvDPvi  Pvjvb  

12. AvaywbK c×wZ‡Z ÔD‡ËvjbÕ †Kvb RvZxq wnmve? 

 m¤ú` `vq gvwjKvbv ¯^Z¡ e¨q 

13. †KvbwU A`„k¨gvb †jb‡`b? 

 bM‡` weµq av‡i weµq AePq my` cÖ`vb 

14.  wb‡Pi †Kvb wnmve mgxKiYwU fzj? 

 m¤ú` = `vq + gvwjKvbv ¯̂Z¡ gvwjKvbv ¯^Z¡ = m¤ú` - `vq  

 m¤ú` + `vq = gvwjKvbv ¯̂Z¡ m¤ú` - gvwjKvbv ¯̂Z¡ = `vq 

15. †KvbwU †iIqvwg‡ji Drm?  

 bM`vb eB  LwZqvb 

 Rv‡e`v  Avw_©K weeiYx 



16.gyb wj. 1jv Rvbyqvwi 2019 Zvwi‡L 4,00,000 UvKvq GKwU †gwkb µq K‡i | †gwk‡bi ms¯ vcb e¨q 30,000 UvKv Ges cwienb LiP 

20,000 UvKv | †gwkbwUi AvbygvwbK Avqy¯‥vj 10 eQi | Avqy¯‥vj †k‡l †gwkbwUi fMœve‡kl g~j¨ n‡e 30,000 UvKv| 

‡gwkbwUi µqg~j¨ KZ? 

3,70,000 

4,00,000 

4,30,000 

4,50,000 

17. AePq wbY©‡q †Kvb c×wZ‡Z fMœve‡kl g~j¨ we‡ePbvq Avbv nq bv? 
el©msL¨vi mgwó c×wZ 

mij‣iwLK c×wZ 

µgn«vmgvb †Ri c×wZ 

Drcv`b GKK c×wZ 

18.wb‡Pi †KvbwU n‡Z cÖwZôv‡bi Avw_©K Ae¯ v  Rvbv hvq? 
Avq weeiYx 

bM` cÖevn weeiYx 

msiwÿZ Avq weeiYx  

Avw_©K Ae¯ vi weeiYx  

19.cy¯ÍK g~j¨ = 

µqg~j¨ + ÿwZ 

µqg~j¨ - cywÄf~Z AePq 

µqg~j¨ - fMœve‡kl g~j¨ 

µqg~j¨ + ms¯ vcb e¨q 

20.¯ vqx m¤ú` n‡jv- 

(i) f~wg , AvmevecÎ Ges `vjvb‡KvVv 

(ii) gUijix ,hš¿cvwZ Ges AvmevecÎ 

(iii) KjKR¦v, wewb‡qvM Ges e¨vsK Rgv 

wb‡Pi †KvbwU mwVK  

(i) Ges  (ii)   

 (i) Ges (iii)    

(ii) Ges (iii)  

(ii) , (ii) Ges (iii)  

21. AvšÍR©vwZK wnmvegvb (IAS)  - 01 Abyhvqx Avw_©KweeiYx KqwU As‡k cÖ¯‧Z Kiv nq ? 
3 

4 

5 

6 

22. †Kvb cØwZ‡Z cÖwZeQi mgvb cwigvb A_© AePq wnmv‡e avh© Kiv nq? 

el©msL¨vi mgwó c×wZ 

mij‣iwLK c×wZ 

µgn«vmgvb †Ri c×wZ 

Drcv`b GKK c×wZ 

23. hš¿cvwZ µq †K  µq wnmv‡e wjLv †Kvb ai‡bi fzj  

ev` covi fzj 

bxwZMZ fzj 

cwic~iK fzj 

‡jLvi fzj 

24.wmwU wj. Gi wnmveiÿK 70,000 UvKvi hš¿cvwZ wK‡b µq wnmv‡e 60,000 UvKv wj‡Lb Ges 60,000 UvKvi Awdm hš¿cvwZ wK‡b Awdm 

hš¿cvwZ wnmv‡e 50,000 UvKv wj‡Lb|  

DÏxc‡K DwjøwLZ ỳwU fz‡ji Rb¨ †iIqvwg‡j KZ UvKvi Mowgj †`Lv w`‡e? 

00UvKv 

10,000 UvKv 

20,000 UvKv 

40,000 UvKv 

25.gvwjK †KvbwU `vwe Ki‡Z cvi‡e bv? 

g~jab 

D‡Ëvjb 

wbU gybvdv 

‡gvU gybvdv 

26.AwbwðZ wnmve g~jZ †Kvb ai‡bi wnmve? 

¯ vqx 

A  ̄vqx I mvgwqK 

AwaKvsk  ̄vqx 

wPi¯ vqx 



27.Avq weeiYx‡Z mgš̂q Ki‡Z nq  

(i) AwZwi³ g~jab Avbqb 

(ii) cY¨ D‡Ëvjb 

(iii) Abv`vqx cvIbv 

 

wb‡Pi †KvbwU mwVK  

(i) Ges  (ii)   

 (i) Ges (iii)    

(ii) Ges (iii)  

(i), (ii) Ges (iii)  
28.GKwU e¨emv‡q cÖviw¤¢K gRy`cY¨ 20,000 UvKv, µqK…Z cY¨ 1,00,000 UvKv mgvcbxgRy` cY¨ 30,000 UvKv, µq cwienb 10,000 UvKv 

, gRywi 5,000 UvKv , weµq cwienb 4,000 UvKv , †eZb 8,000 UvKv , fvov 1,000 UvKv Ges †gvU weµq 2,00,000 UvKv  
weµxZ cY¨i e¨q KZ? 

1,05,000 

1,09,000 

1,18,000 

1,87,000 

29.GKwU e¨emv‡q cÖviw¤¢K gRy`cY¨ 20,000 UvKv, µqK…Z cY¨ 1,00,000 UvKv mgvcbxgRy` cY¨ 30,000 UvKv, µq cwienb 10,000 UvKv 

, gRywi 5,000 UvKv , weµq cwienb 4,000 UvKv , †eZb 8,000 UvKv , fvov 1,000 UvKv Ges †gvU weµq 2,00,000 UvKv  
c‡ivÿ e¨‡qi cwigvb KZ? 

13,000 

18,000 

28,000 

1,25,000 

30.mgwš̂Z µq=? 

(i) weµq  - mgvcbxgRy` cY¨  

(ii) weµq‡hvM¨ cY¨i e¨q - mgvcbxgRy` cY¨ 

(iii) cÖviw¤¢K gRy` cY¨ + µq - mgvcbxgRy` cY¨ 

wb‡Pi †KvbwU mwVK  

(i) Ges  (ii)   

 (i) Ges (iii)    

(ii) Ges (iii)  

(i), (ii) Ges  (iii)  
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[N.B: All questions to be answer.  Each question contains 1 mark] 

 

Right Ans to give Red Mark 
 

1. Who is the internal user of accounting information?  

 Creditor  Tax Authority  

 Manager  Labor union 

2. Owner’s Equity decreased- 

 (i) if revenue decreased 

 (ii) if expense increased  

 (iii) if withdrawn 

 Following which one is correct? 

 (i) & (ii)  (i) & (iii)  (ii) & (iii)  (i), (ii) & (iii) 

3. Who prepare invoice?  

 Seller   Owner  

 Creditor  Customer 

4. Tk. 1,80,000 received from Mr. Zakir after deducting 10% discount. What is the amount of  discount?  

 1,98,000 1,62,000 20,000 18,000 

5.  An asset will be increased and other one will be decreased - 

 (i) if purchased of an assets by cash 

 (ii) if sales of goods by cash  

 (iii) if cash deposited to bank 

 Following which one is correct? 

  (i) & (ii)  (i) & (iii)  (ii) & (iii)  (i), (ii) & (iii) 

6.  Normally Debit balance is for- 

 (i) Drawings 

 (ii) Assets 

 (iii) Liabilities 

 Which one is correct from following? 

  (i) & (ii)  (i) & (iii)  (ii) & (iii)  (i), (ii) & (iii) 

7. Equipment purchased for sale. Which one is a correct journal entry?  

 Equipment Account Debit; Cash Account Credit  

 Purchase Account Debit; Cash Account Credit 

 Equipment Account Debit; Bank Account Credit   

 Purchase Account Debit; Creditors Account Credit 

8. Which account is to be debited for increasing petty cash fund?  

 Petty expense account  Cash account 

 Bank account  Petty cash account 

9.  Accounts those are not included in trial balance are- 

 (i) Beginning cash balance 

 (ii) Beginning inventory 

 (iii) Beginning bank balance 

 Following which one is correct? 

  (i) & (ii)  (i) & (iii)  (ii) & (iii)  (i), (ii) & (iii) 

10. An account balance of Tk. 160 posted wrong side of the trial balance. What amount will be the 

difference of both side of trial balance if all other things are correct?  

 480 320 160  80 

11. What is the source document for sales journal? 

 Debit note  Credit note  

 Debit voucher  Invoice 

12. In modern method which type of account ‘Drawings’ is?  

 Assets  Liabilities  

 Owner‘s Equity  Expense 

13. Which one is the invisible transaction?  

 Cash Sales  Credit Sales  

 Depreciation  Interest expense 

14. Which one of accounting equation is incorrect?  

 Assets = Liabilities + Owner‘s Equity  

 Owner‘s Equity = Assets - Liabilities  

 Assets + Liabilities = Owner‘s Equity  

 Assets - Owner‘s Equity = Liabilities  

15. Which one is the source of trial balance?  

 Cash Book  Ledger 

 Journal  Financial Statements 



16. Mum ltd. Purchase a machine for taka 4,00,000 on 1
st
 January 2019. Installation cost taka 30,000 and 

transportation cost is taka 20,000. Machine has estimated life 10 years and salvage value taka 30,000. 

What is the purchase price of machine? 

3,70,000 

4,00,000 

4,30,000 

4,50,000 

17.Which method does not consider salvage value to determine depreciation? 

 

Sum of the year digit method  

Straight line method 

Declining balance method 

Production unit method 

 

18.From which of the following the financial position of an organization is known? 

 

Income statement  

Cash flow statement  

Retained earnings statement 

Statement of financial position 

 

19.Book value = 

Purchase price + loss  

Purchase price  - accumulated depreciation 

Purchase price  - salvage value 

 Purchase price + installation cost  

 

20.Fixed assets are – 

(i) Land, furniture and building  

(ii)  Motorcar , Machinery and furniture 

(iii) Equipment ,Investment and bank balance  

 

Which one is correct ? 

(i) and  (ii)   

 (i) and (iii)    

(ii) and (iii)  

(i) , (ii) and (iii)  

21.What are the steps of preparing financial statement according to IAS – 01? 

3 

4 

5 

6 

22.Which approach the same amount of depreciation of each year? 

Sum of the year digit method  

Straight line method 

Reducing balance method 

Production unit method 

23 What kind of error to write purchase account instead of equipment account? 

 

Error of omission  

Error of principle  

Error of  compensating  

Error of writing  

24 Accountant of City Ltd purchased equipment Tk 70,000 but he wrongly wrote Tk. 60,000 in purchase 

account . He also purchased office equipment Tk 60,000 but he wrongly wrote Tk. 50,000 in office 

equipment account.  

 

What will be difference in trial balance for two errors mention in stem? 

TK. 00 

TK. 10,000 

Tk. 20,000 

Tk. 40,000 

25.Which could not be claimed by owner? 

Capital  

Drawings 

Net profit  

Gross profit  



26.What type of account is suspense account? 

Permanent  

Temporary and periodic  

Mostly permanent  

Perpetual  

27. Income statement could be adjusted with- 

(i) Bringing additional capital 

(ii) Drawing of goods  

(iii) Bad debts  

Which one is correct? 

(i) and  (ii)   

 (i) and (iii)    

(ii) and (iii)  

(i) , (ii) and (iii)  

 

28.  Items of a business entity are opening stock Tk. 20,000 purchased merchandise Tk. 1,00,000 closing stock 

30,000 , freight in Tk. 10,000 , wages Tk. 5,000 , fright out Tk . 4,000, salaries Tk 8,000 , rent Tk 1,000 and total 

sales Tk. 2,00,000 

What is the cost of goods sold? 

1,05,000 

1,09,000 

1,18,000 

1,87,000 

29.  Items of a business entity are opening stock Tk. 20,000 purchased merchandise Tk. 1,00,000 closing stock 

30,000 , freight in Tk. 10,000 , wages Tk. 5,000 , fright out Tk . 4,000, salaries Tk 8,000 , rent Tk 1,000 and total 

sales Tk. 2,00,000 

What is the total of indirect expense? 

13,000 

18,000 

28,000 

1,25,000 

30. Adjusted purchase = ? 

(i) sales – closing stock 

(ii) saleable goods – closing stock  

(iii) opening stock + purchase – closing stock  

 

Which one is correct? 

(i) and  (ii)   

(i) and (iii)    

(ii) and (iii)  

(i) , (ii) and (iii)  
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                                ?  

 

 ।   স খ          

খ।     গ      

গ।          

ঘ। আ       

 

১৯।                                              ?  

 

 ।                 

খ।             

গ।                

ঘ।           

 

২০।                                        ? 

 

 ।           

খ।        

গ।         

ঘ।      

 

২১। ‚                   ‛ স                ৩           ১০%     ৫           ১৫%            

   ।  

       ‚                  ‛                          ?  

 

 ।  গ              

খ।                

গ।    স          

ঘ।              

 

২২।                              গ             ?  

 

 । স      

খ।       

গ।         

ঘ।         

 

২৩। Pure Water Ltd.                                   ।                                        

      ৩০                   স                    স                ।  

       Pure Water Ltd.                                    আ              ? 

 

 ।      

খ।      

গ।      

ঘ।  স    



 

২৪। ‚GoodLife Ltd‛                                            ২০     ,               ১,০০,০০০     , 

                   ৩০                                     ২৫%।            গ                     ঐ 

                 ? 

 

 । ২৬.৬৭       

খ। ৪০      

গ। ৫০       

ঘ। ৫২.৫০       

 

২৫।  স                       গ     ? 

 

 । স          

খ।          

গ।           

ঘ।                

 

২৬। স                           স           -                        ২৫     ;               

৪,৫০,০০০     ;                    ৪০     ;              ১০৫     ।  

স                                 স           ? 

 

 । ৪,২৮৬     

খ। ৪,৫০০      

গ। ৫,৬২৫      

ঘ। ৬,৯২৩        

   

২৭। ‚         ‛                                স  ।                        স                     

    ও        স                            । 

                                     স                     ? 

 

 ।        

খ।            

গ।            

ঘ।       স   

 

২৮।                  আ             -  

 

১।          গ   

২।        গ  

৩।          গ  

             স   ?  

 

 । ১ ও ২ 

খ। ১ ও ৩ 

গ। ২ ও ৩ 

ঘ। ১, ২ ও ৩ 

২৯।                                           ?  

 

১।                   

২।                       

৩।           স      ও      

 

             স   ?  

 

 । ১ ও ২  

খ। ১ ও ৩  

গ। ২ ও ৩  

ঘ। ১, ২ ও ৩  

৩০।                        ?  

 

 ।                 

খ।               

গ।   ঘ              

ঘ।                



  

       :                ও       

১ গ  

২ খ  

৩ গ 

৪ ঘ 

৫ গ 

৬ খ  

৭ ঘ  

৮ খ  

৯     

১০ ঘ  

১১ ঘ 

১২ গ 

১৩ গ 

১৪ খ  

১৫ গ  

১৬ খ  

১৭    

১৮ ঘ  

১৯ খ  

২০ গ 

২১ ঘ  

২২ খ   

২৩ গ  

২৪ খ  

২৫ খ  

২৬ গ  

২৭ ঘ   

২৮    

২৯ গ  

৩০ ঘ  
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Right Ans to give Red Mark 
 

1. Which of the following is a fixed cost? 

a. Raw material cost 

b. Electricity cost 

c. Factory rent 

d. Transportation cost 

2. Mrs. Lina established a beauty parlor at Gulshan in Dhaka by investing total amount of capital of taka 15 

lakh. She appointed 18 trained staffs to operate the activities of the parlor accurately. On the basis of 

scale of production which type of enterprise Mrs. Lina‘s organization is? 

a. Micro 

b. Small 

c. Medium 

d. Large 

3. Which of the following is excluded from the characteristics of optimum production scale? 

a. The amount of profit becomes maximum 

b. The amount of production becomes maximum 

c. The amount of cost becomes maximum 

d. The use of materials becomes maximum 

4. Which of the following is an advantage of large enterprise? 

a. Less risk 

b. Easy formation 

c. Easy management 

d. More employment opportunities 

5. Which of the following is method of calculating National Income? 

a. Investment 

b. Savings 

c. Expenditure 

d. Profit 

6. Which of the following element is excluded from GNP? 

a. Income of the citizens of the country living and working in the country 

b. Income of the foreigners living and working in the country 

c. Income of the citizens of the country living and working abroad 

d. Net export earnings 

7. In the fiscal year of 2018-2019, the amount of Gross Domestic Product of a country was 23,500 crore of 

US dollar. In that year, the country‘s amount of net export was 2,500 crore of US dollar, amount of 

transferrable payment was 1,500 crore of US dollar, amount of government surplus was 2,500 crore of 

US dollar, amount of subsidy was 1000 crore of US dollar and amount of indirect tax was 3000 crore of 

US dollar. During that year the total population of that country was 5 crore. What was the per capita 

income of the country in the fiscal year of 2018-2019? 

a. 4000 crore US dollar 

b. 4800 US dollar 

c. 3000 crore US dollar 

d. 4000 US dollar 

8. Which of the following element is excluded from National Income? 

a. Salary Allowance 

b. Retirement Allowance 

c. Transportation allowance 

d. House rent allowance 

9. From which of the following the idea about the standard of living of the citizens of a country can be obtained? 

a. Per Capita Income 

b. National Income 

c. Gross National Product 

d. Gross Domestic Product 

 

10. In the year of 2017, the amount of private consumption of country ‗A‘ was 10,200 crore of US dollar, the 

amount of private investment was 8400 crore US dollar, the amount of government expenditure was 9400 crore 

US dollar, total amount of import was 5000 crore US dollar and total amount of export was 2000 crore us dollar. 

In the year of 2017, what was the amount of Gross National Product of country ‗A‘? 

a. 31000 US dollar 

b. 31000 crore US dollar 

c. 25000 US dollar 

d. 25000 crore US dollar 



11. Which of the following is a goods producing organization? 

a. Salon 

b. Hotel 

c. Hospital 

d. Jute mill 

12. Mr. Asif has an account in ‗South City Bank Ltd.‘. Recently he had to take service from the SadarGhat 

branch of the bank for a special need. While taking service from that branch he noticed that the branch has 

extreme mismanagement and deficiency in providing services compared to other branches. So, he became 

disappointed. Which of the following characteristic of service is responsible for the disappointment of Mr. Asif? 

a. Intangibility 

b. Inseparability 

c. Variability 

d. Perishability 

13. What is the meaning of ‗Customization‘? 

a. Designing product and marketing programs for specific group of customers  

b. Designing product and marketing programs for specific segment 

c. Designing product and marketing programs for an individual customer 

d. Designing product and marketing programs for a specific geographic area 

14. Who had contribution in introducing division of labor in production management? 

a. F. W. Taylor 

b. Adam Smith  

c. Henry L. Gantt 

d. Walter Shewhart 

15. Which of the following challenge is created if the productivity is decreased? 

a. The production cost is decreased 

b. The product price is decreased 

c. The wages of the labors is decreased 

d. The competition is decreased 

16. Who buys products for the purpose of re-processing? 

A. Consumer market 

B. Industrial market 

C. Re-seller market 

D. Local market  

 

17. Which product becomes a part of the final product? 

A. Raw materials 

B. Installation  

C. Accessory equipment 

D. Supplies & services  

18. ―Air Cell Ltd‖ offers 1 paisa/second to its regular users and free 30 SMS to its old users for activating their 

SIM card again.  

On which basis ―Air Cell Ltd‖ has segmented their market in the given stem? 

A. Demographic  

B. Geographic  

C. Psychographic  

D. Behavioral  

19. Which marketing concept was given by Neil H. Borden? 

A. Market segmentation 

B. Marketing mix 

C. Product life cycle 

D. Product mix  

20. Which stage of product life cycle is lengthier? 

A. Product development  

B. Growth  

C. Maturity  

D. Decline   

21. Ohona Fashion Limited offers 10% discount for buying 3pieces of products and 15% discount for buying 5 

pieces of products to its customers.  

What type of discount was offered by ―Ohona Fashion Limited‖? 

A. Cash discount 

B. Functional discount 

C. Seasonal discount 

D. Quantity discount 

22. In which stage of product life cycle competitors enter into the market? 

A. Introduction 

B. Growth  

C. Maturity  

D. Decline   



23. Pure Water Ltd. produces water purifying machines. The company took necessary steps to make the product 

available in 30 districts of the country in order to increase the sales. 

Which element of marketing mix was given importance by Pure Water Ltd. in the given stem?  

A. Product 

B. Price  

C. Place  

D. Promotion  

24.  ―Good Life Ltd‖ company‘s pricing related information are- per unit variable cost is tk.20; total fixed cost is 

tk.1,00,000; per unit production cost is tk. 30 and percentage of profit on sales is 25%.   

What is the per unit selling price according to cost-plus pricing method? 

A. Tk. 26.67 

B. Tk. 40 

C. Tk. 50 

D. Tk. 52.50 

25. What kind of consumer product is ceiling fan?  

A. Convenience product 

B. Shopping product 

C. Specialty product 

D. Unsought product        

26. Sadat Fashion Ltd.‘s pricing related information are- per unit variable cost is tk. 25; total fixed cost is tk. 

4,50,000; per unit production cost is tk. 40 and per unit selling price is tk. 105. 

What is the break-even point of production of Sadat Fashion Ltd? 

A. 4,286 units 

B. 4,500 units 

C. 5,625 units 

D. 6,923 units 

27.  ―The Writer‖ company launches new branded pens in the market. The company distributes its pens to the 

students of many schools and colleges for free in order to promote.  

What type of promotional strategy is being used by the company in the given stem? 

A. Advertising  

B. Personal selling  

C. Direct marketing 

D. Sales promotion  

28. Requirements for effective market segmentation are- 

1. Measurable  

2. Accessible 

3. Distributable 

Which one is correct? 

A. 1&2 

B. 1&3 

C. 2&3 

D. 1,2, & 3  

29. Which conditions should be maintained in order to be a market? 

1. Specific place 

2. Demand or want  

3. Ability and willingness to buy  

Which one of the following is correct? 

A. 1&2 

B. 1&3 

C. 2&3 

D. 1,2& 3  

30. Which one is the feature of industrial product? 

A. Changes in fashion 

B. Purchase in small quantity 

C. Large distribution channel 

D. Inelastic demand  
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XvKv Kgvm© K‡jR 

1g el© PzovšÍ (3q ce©) cixÿv-2020 

†kÖwY: GKv`k 

welq: cwimsL¨vb 1g I 2q cÎ                               welq †KvW: 129 I 130 

mgq: 30 wgwbU                                                                 c~Y©gvY: 30 

eûwbe©vPbx: 

mwVK DËiwU jvj wPý K‡i †`qv n‡jv 

1| †f`vs‡Ki eM©g~j‡K e‡j- 

K. Mo e¨eavb 

L. cwiwgZ e¨eavb 

M. PZz_©K e¨eavb 

N. we‡f`vs 

2| 1g n msL¨K ¯v̂fvweK msL¨vi †f`vsK- 

K. (n
2
-1) / 2 

L. (n
2
-1) / 12 

M. (n
2
+1) / 2 

N. (n
2
+1) / 12 

3| †KvbwU we Í̄v‡ii Av`k© cwigvc ? 

K. cwimi 

L. Mo e¨eavb 

M. PZz_©K e¨eavb 

N. cwiwgZ e¨eavb 

4| `ywU gv‡bi Rb¨- 

i. cwiwgZ e¨eavb cwim‡ii A‡a©K 

ii. Mo e¨eavb cwim‡ii A‡a©K 

iii. Mo e¨eavb I cwiwgZ e¨eavb mgvb 

wb‡Pi †KvbwU mwVK? 

K. i I ii 

L. i I iii 

M. ii I iii  

N. i , ii I iii 

5| 5, 5, 5 I 5 msL¨v¸wji †f`vsK KZ ? 

K. 0 

L. 5 

M. 10 

N. 15 

6| `yRb wkÿv_©xi cixÿvq cÖvß b¤^i h_vµ‡g 80  I  86 n‡j Zv‡`i cwiwgZ e¨eavb KZ ? 

K. 2 

L. 3 

M. 4 

N. 5 

7| 48 I 52 Gi we†f`vsK KZ ? 

K. 4% 

L. 5% 

M. 6% 

N. 7% 

8| wØZxq †K›`ªxq cwiNvZ wK‡mi mgvb ? 

K. Mo e¨eavb 

L. cwiwgZ e¨eavb 

M. ‡f`vsK 

N. we‡f`vsK 

9| cÖwZmg web¨v‡mi •ewkó¨ †KvbwU ? 

K. Mo = ga¨gv = cÖPziK 

L. Mo = ‡f`vsK= we‡f`vsK 

M. Mo > ga¨gv > cÖPziK 

N. Mo < ga¨gv < cÖPziK 

10| MvwYwZK Mo †_‡K wbY©xZ cwiNvZ‡K wK e‡j? 

K. KuvPv cwiNvZ 

L. ew¼gZv 

M. m~uPvjZv 

N. ‡K› ª̀xq cwiNvZ 

11| wb‡Pi †KvbwUi †ÿ‡Î cwiNvZ FbvZœK n‡Z cv‡i | 

K. 1g †K›`ªxq cwiNvZ 

L. 2q †K› ª̀xq cwiNvZ  

M. 3q †K› ª̀xq cwiNvZ  

N. 4_© ‡K› ª̀xq cwiNvZ 



12| ew¼gZv wbY©q Ki‡Z cÖ‡qvRb- 

i. 2q †K› ª̀xq cwiNvZ  

ii. 3q †K› ª̀xq cwiNvZ 

iii. 4_© ‡K› ª̀xq cwiNvZ  

wb‡Pi †KvbwU mwVK? 

K. i I ii 

L. i I iii 

M. ii I iii  

N. i , ii I iii 

13| 3 Gi mv‡c‡ÿ cÖ_g `ywU cwiNvZ h_vµ‡g 1 I  5 n‡j Zv‡`i MvwYwZK KZ ? 

K. 2 

L. 3 

M. 4 

N. 5 

14| 3 Gi mv‡c‡ÿ cÖ_g `ywU cwiNvZ h_vµ‡g 2 I  5 n‡j Zv‡`i ‡f`vsK KZ ? 

K. 1 

L. 2 

M. 3 

N. 4 

15|  hw` E(x)=2 Ges E(x
2
)=8 nq Z‡e v(x) Gi gvb KZ ?  

K. 2 

L. 4 

M. 6 

N. 8 

16| ‣`ePjK I Dnvi mswkøó m¤¢vebvi ¸Yd‡ji mgwó‡K wK e‡j ? 

K. MvwYwZK cÖZ¨vkv 

L. ‡f`vsK  

M. mn‡f`vsK 

N. hy³ m¤¢vebv A‡cÿK 

17| ‣`ePj‡Ki  MvwYwZK cÖZ¨vkv†K  e‡j - 

K. ‡f`vsK  

L. cwiwgZ e¨eavb 

M. MvwYwZK Mo 

N. mn‡f`vsK 

18| MvwYwZK cÖZ¨vkvi ag© n‡jv- 

i. E( a) = 0 

ii. E( a) = a 

iii. E( ax+b) = aE(x)+b 

wb‡Pi †KvbwU mwVK? 

K. i I ii 

L. i I iii 

M. ii I iii  

N. i , ii I iii 

19|  x ‣`ePj‡Ki  m¤¢vebv A‡cÿK  p(x)= x/k   ;  x=1, 2, 3, 4 n‡j  k Gi gvb KZ ?  

K. 5 

L. 10 

M. 15 

N. 20 

20|  x ‣`ePj‡Ki  m¤¢vebv A‡cÿK  p(x)= x/10   ;  x=1, 2, 3, 4 n‡j  E(x) Gi gvb KZ ?  

K. 3 

L. 4 

M. 5 

N. 6 

21| wØc`x web¨v‡mi †ÿ‡Î †KvbwU mwVK ? 

K. Mo cwiwgZ e¨eavb A‡cÿv eo 

L. Mo I †f`vsK mgvb  

M. Mo I cwiwgZ e¨eavb mgvb 

N. Mo †f`vsK A‡cÿv eo 



 

22| wØc`x web¨v‡mi kZ© n‡jv- 

i. ‡Póvi msL¨v wbw`©ó 

ii. ‡Póv¸wj ¯̂vaxb 

iii. mdjZvi m¤¢vebv AwZ ÿz`ª 

wb‡Pi †KvbwU mwVK? 

K. i I ii 

L. i I iii 

M. ii I iii  

N. i , ii I iii 

23| GKwU wbi‡cÿ gy`ªv wZbevi wb‡ÿc Kiv n‡j wZbwU †nW cvIqvi  m¤¢vebv A‡cÿK  KZ ?  

K. 1/8 

L. 2/8 

M. 3/8 

N. 7/8 

24| wØc`x web¨v‡mi †ÿ‡Î  n=10,  p=0.4  n‡j Mo KZ ?  

K.  2 

L.  4 

M. 10 

N. 15 

25| wØc`x web¨v‡mi †ÿ‡Î  n=10,  p=0.4  n‡j MVb •ewkó¨ wKiæc n‡e  ?  

K. abvZœK ew¼g I AwZm~Pvj 

L. abvZœK ew¼g I AbwZm~Pvj 

M. FbvZœK ew¼g I AwZm~Pvj  

N. FbvZœK ew¼g I AbwZm~Pvj 

26| ‣cu‡mv  web¨v‡mi civwgwZ  2  n‡j Dnvi ew¼gZv KZ ?  

K.  0.71 

L.  0.81 

M.  2.0 

N.  3.50 

27| ‣cu‡mv  web¨v‡mi †ÿ‡Î †KvbwU  mZ¨? 

K. Mo > ga¨gv > cÖPziK 

L. cÖPziK > ga¨gv > Mo 

M. ga¨gv > cÖPziK> Mo 

 N. ga¨gv > Mo > cÖPziK 

28| hw` ‣cu‡mv  web¨v‡mi civwgwZ  m  nq Z‡e 

i. Mo= m 

ii. ‡f`vsK= m 

iii. 3q †K› ª̀xq cwiNvZ= m 

wb‡Pi †KvbwU mwVK? 

K. i I ii 

L. i I iii 

M. ii I iii  

N. i , ii I iii 

29|  x hw` GKwU ‣cu‡mv PjK Ges  p(x=2)= p(x=3)  nq civwgwZi  gvb KZ ?  

K. 2 

L. 3 

M. 4 

N. 5 

30|  x hw` GKwU ‣cu‡mv PjK Ges civwgwZi  gvb 3 n‡j p(x ≥ 1) = ? 

K.  80 

L.  85 

M.  95 

N.  98 
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Sub: Statistics 1st and 2nd Paper                                      Subject code: 129, 130 

                          Time: 30                                                                            Marks: 30 

        Each question is of equal value, answer all the questions 

Right Ans to give Red Mark 
 

1. The square root of variance is called- 

    Mean deviation 

    Standard deviation 

     Quartile deviation] 

      Coefficient of variation 

2. The variance of 1st n natural number is- 
    (n2-1)/2 

     (n2-1)/12 

     (n2+1)/2 

     (n2+1)/12  

3. Which is an ideal measure of dispersion? 

     Range 

    Mean deviation 

    Quartile deviation 

    Standard deviation 

4. For two values- 

i. Standard deviation is the half of range,                                                                                                                                                                                           

ii. Mean deviation is the half of range,                                                                                                                                                            

iii. Mean deviation and standard deviation are equal.                                                                                                                                                                                                   

Which one is correct? 

    i & ii 

    i & iii 

    ii & iii 

    i, ii & iii 

5. What is the variance of the values: 5, 5, 5, 5 ? 

    0 

    5 

    10 

   15 

6. The obtained marks of two students are 80 and 86. What is the value of standard deviation? 

    2 

   3 

   4 

   5 

7. What is the value of coefficient of variation (CV) of the values 48 and 52 ? 

    4% 

    5% 

    6% 

   7% 

8. 2nd central moment is equal to which item? 

    Mean deviation 

    Standard deviation 

    Variance 

   Coefficient of variation 

9. Which is the characteristic of symmetric distribution? 

   Mean= Median= Mode 

   Mean= variance = Coefficient of variation 

   Mean> Median > Mode 

   Mean < Median < Mode 

10. What is the name of moment which is measured from arithmetic mean? 

    Raw moment 

   Skewness 

   Kurtosis 

   Central moment 

11. Moment can be negative for which of the following? 

    1st central moment 

   2nd central moment 

   3rd central moment 

   4th central moment 



12. To determine skewness needs-                                                                                                                                                                                              

   i. 2nd central moment                                                                                                                                                                                       

   ii. 3rd central moment                                                                                                                                                                                          

   iii. 4th central moment,                                                                                                                                                                                  

Which one is correct? 

    i & ii 

    i & iii 

     ii & iii 

    i, ii & iii 

13. If 1st two moments about 3 are 1 and 5 respectively. What is arithmetic mean? 

    2 

    3 

   4 

   5 

14. If 1st two moments about 3 are 2 and 5 respectively. What is variance of the distribution? 

    1 

    2 

    3 

    5 

15. If E(x)=2 and E(x2)=8,  What is value of V(x) ?   

    2 

    4 

    6 

    8 

16. The sum of values of a random variable multiplying with associated probability is called- 

    Mathematical expectation 

    Variance of random variable 

    Covariance of random variable 

    Joint probability function 

17. Mathematical expectation of a random variable is equal to- 

    Variance 

    Standard deviation 

    Arithmetic mean 

    Covariance 

18. The properties of mathematical expectation are-                                                                                                                                       

i. E(a)=0                                                                                                                                                                                                                    

ii. E(a) =a                                                                                                                                                                                                          

iii. E(ax+b)=aE(x) + b,                                                                                                                                                                                 

Which one is correct?    

     i & ii 

     i & iii 

     ii & iii 

     i, ii & iii      

19. The probability function of a random variable x is    p(x)= x/k ; x=1, 2, 3, 4. What is the value of k? 

    5 

   10 

    15 

    20 

20. The probability function of a random variable x is    p(x)= x/10 ; x=1, 2, 3, 4.  What is the value of   E(x)? 

   3 

   4 

   5 

   6 

21. Which is true for Binomial distribution? 

     Mean is greater than standard deviation 

     Mean and variance are equal 

     Mean and standard deviation are equal 

     Mean is greater than variance 

22. The conditions of Binomial distribution are-                                                                                                             

i. The trials are specified                                                                                                                                                                                

ii. All the trials are independent                                                                                                                                                                                      

iii. The probability of success is very small                                                                                                                                            

Which one is correct? 

    i & ii 

    i & iii 

    ii & iii 

    i, ii & iii 



23. Throwing of an unbiased coin three times , what is the probability of appearing three heads? 

    1/8 

    2/8 

    3/8 

    7/8 

24. The parameters of Binomial distribution are n=10 and p=0.40. What is the mean of Binomial distribution? 

    2 

    4 

    10 

    15 

25. What is the shape characteristics of Binomial distribution if n=10 and p=0.4 ? 

    Positive skewed and leptokurtic 

    Positive skewed and platykurtic 

    Negative skewed and leptokurtic 

    Negative skewed and platykurtic 

26. If the parameter of Poisson distribution is 2. What is its skewness? 

    0.71 

    0.81 

    2.0 

    3.50 

27. Which is true for Poisson distribution? 

    Mean > Median > Mode 

    Mode > Median > Mean 

    Median > Mode > mean 

    Median > Mean > Mode 

28. If the parameter of Poisson distribution is m then-                                                                                                                 

i. Mean = m                                                                                                                                                                                                                                                                                                                                   

ii. Variance = m                                                                                                                                                                                                    

iii. 3rd central moment =m.                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                        

Which one is correct?     

    i & ii 

    i & iii 

    i & iii 

    i, ii & iii     

29.    If x be a Poisson variable where  p(x=2) = p(x=3).  What is the value of parameter? 

    2 

    3 

    4 

    5     

30. If the parameter of Poisson variable is 3. What is the value of  p(x ≥1)? 

    0.80 

    0.85 

    0.95 

    0.98  
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First Year Final (3rd Term) Examination 2020 

Class: XI 

Subject: Finance, Banking and Insurance (1st & 2nd Paper)                Subject Code: 292 & 293 

Time: 30 Minutes                                                                                                  Full Marks: 30 

Multiple Choice Question (M.C.Q) 
 

N.B: (i) Student's Name- Must be filled in English by the student. 

(ii) Roll- Must be filled in English by the student. 

(iii) Online Class Section- Must be filled in English by the student. 

(iv) Guardian's mobile number- must be filled in English by the student. 

 

Finance, Banking and Insurance (1st & 2nd Paper) 

N.B. Select the correct answer from the multiple choice questions and fill up the right answer. Each question 

carries mark 1. Answer all the questions.] 

1.Which bank is called the mixed bank below? 

a. Bangladesh Bank 

b. Arab Bangladesh Bank 

c. Bangladesh Krishi Bank 

d. Bangladesh Commerce Bank 

 

2.Who bears the Final cost of trade credit? 

a) Buyer 

b) Bank 

c) NGO 

d) Producer 

3.Advantages of mobile banking are- (I) To recharge a mobile phone (II) Cash receipt and payment (III) 

Payments for purchasing goods or services 

Which is correct? 

a. i and ii 

b. i and iii 

c. ii and iii 

d. i, ii and iii 

4.A series of equal cash flow made at the beginning of each period is called- 

a. Ordinary Annuity 

b. Annuity Due 

c. Deferred Annuity 

d. Perpetuity 

5.The inevitable condition of check is- (i) The signature of depositor (ii) Mention the amount of money (iii) 

Mention the purpose of withdrawing money 

Which is correct? 

a. i and ii 

b. i and iii 

c. ii and iii 

d. i, ii and iii 

6.Read the following stem and answer to the following question: Monthly income of Miss Ayna is Tk. 30,000. 

She deposits 10% money of her total income. Bank provides her 10% interest rate yearly. After 10 year, she will 

draw her money. 

How much amount, she will get? 

a. Tk. 93,375 

b. Tk. 90,570 

c. Tk. 77,813 

d. Tk. 70,531 

7.Read the following stem and answer to the following question: Investment in the two projects contains which 

function of finance? 

Babylon Company Ltd. is considering the cash flows of the following two projects for investment: 

Year 0 1 2 3 4 5 6 

Project A (70000) - 20000 - 30000 132000 182000 

Project B (70000) 40000 50000 20000 30000 40000 180000 

 

 

a. Collection of fund 

b. Capital budgeting decision 

c. Working capital management 

d. Distribution of fund 

8.What is the full form of K.Y.C? 

a. Know Your Customer 

b. Know Your Creditor 

c. Know Your Consumer 

d. Know Your Client 



9.Read the following stem and answer to the following question: Monthly income of Miss Ayna is Tk. 30,000. 

She deposits 10% money of her total income. Bank provides her 10% interest rate yearly. After 10 year, she will 

draw her money. 

On the basis of simple interest, if she deposits 30000/- at a time then- (i) interest = 10% (ii) Future value = Tk. 

60,000 (iii) n = 10 years; Which is correct? 

a. i and ii 

b. i and iii 

c. ii and iii 

d. i, ii and iii 

10.Read the stem and answer to the following question: To meet demand of the foods country at corona period, 

the central bank gives direction to all the scheduled banks to provide credit 5% for agriculture sector of it's total 

allocation. 

According to the stem‘s direction, which method of credit control is used by central bank? 

a) Bank rate policy 

b) Cash Reserve policy 

c) Credit Rationing 

d) Changing the Marginal Rate 

11.According to the law, a check is a type of – 

a. Order paper 

b. Draft 

c. Promissory note 

d. Bill of exchange 

12.How many types of crossed check are available? 

a. 2 

b. 3 

c. 4 

d. 5 

13.Spontaneous finance are- (i) Trade credit (ii) Revolving credit (iii) Accrued expenses 

Which is correct? 

a) i and ii 

b) i and iii 

c) ii and iii 

d) i,ii and iii 

14.What is called finance operating to make a profit? 

a. Public finance 

b. Personal finance 

c. Business finance 

d. None business finance 

15.When central bank controls credit? 

a) If the price level decreases 

b) If the demand of money decreases 

c) If inflation increases 

d) If the supply of credit decreases 

16.The objectives of central bank are- (i) To earn profit (ii) To control credit (iii) To issue note and currency 

Which is correct 

a) i and ii 

b) ii and iii 

c) i and iii 

d) i, ii ans iii 

17.Which is using for buy goods on credit below? 

a. Debit card 

b. Credit card 

c. ATM card 

d. Cash card 

18.Which is the capital budgeting decision? 

a. To purchase fuel 

b. To purchase stationery 

c. To purchase raw materials 

d. To purchase machinery 

19.The maximum duration of commercial paper? 

a) 40 days 

b) 60 days 

c) 90 days 

d) 270 days 

20.When the value of money changes with the changes of time it is called- 

a. Future value 

b. Compounding 

c. Time value of money 

d. Discounting 



21.Which one is the objective of short term financing? 

a) Expansion of Business 

b) Establishment of Machinery 

c) To meet up current expenses 

d) Transfer of Business 

22.Which check is easy to transfer? 

a. Bearer 

b. Order 

c. Crossed 

d. Blank 

23.What is the full form of C.R.R? 

a) Cash Reserve Rate 

b) Cash Reserve Ratio 

c) Cash Reserve Required 

d) Cash Requirement Ratio 

24.Social responsibilities of finance are- (I) To protect the interests of shareholders (II) To make a financial plan 

(III) To retain the rights of consumers 

Which is correct? 

a. i and ii 

b. i and iii 

c. II and iii 

d. i, ii and iii 

25.Read the following stem and answer to the following question: To achieve the goal of wealth maximization 

for Babylon Company Ltd. requires- (I) Accept Project - A considering risk (II) Accept Project - B considering 

cash flow (III) Accept Project - B considering the time value of money; Which is correct? 

Babylon Company Ltd. is considering the cash flows of the following two projects for investment: 

Year 0 1 2 3 4 5 6 

Project A (70000) - 20000 - 30000 132000 182000 

Project B (70000) 40000 50000 20000 30000 40000 180000 

 

a. i and ii 

b. i and iii 

c. ii and iii 

d. i, ii and iii 

26.Which one is the current asset of the following? 

a) Cash in hand 

b) Furniture 

c) Machinery 

d) Share 

27.What is the full form of I.O.U? 

a. I offer you 

b. I owe you 

c. I am over you 

d. I am for you 

28.Read the stem and answer to the following question: To meet demand of the foods country at corona period, 

the central bank gives direction to all the scheduled banks to provide credit 5% for agriculture sector of it's total 

allocation. 

What is the reason of above initiatives taken by central Bank? 

a) To give more credit to farmers 

b) For the development of agriculture sector and crops production 

c) To increase banks profit 

d) To increase farmers income 

29.Weekly 1% interest rate is same as- 

a. 60.768% annual interest 

b. 62.768% annual interest 

c. 65.768% annual interest 

d. 67.768% annual interest 

30.In which banking system, some small banking institutions are operating their banking activities under a 

holding company? 

a. Unit 

b. Branch 

c. Chain 

d. Group 

 

 

 

 

 



XvKv Kgvm© K‡jR 

1g el© P‚ovšÍ (3q ce©) cix¶v 2020 

†kÖwY: GKv`k 

welq: A_©bxwZ               welq †KvW: 109 I 110 

mgq: 30 wgwbU                            c‚Y©gvb: 30 

eû wbe©vPwb cÖkœ 

 

[ we‡kl `Öóe¨: mwVK/ m‡e©vrK…ó DË‡ii e…ËwU wbe©vPb Ki| cÖwZwU cÖ‡kœi gvb 1] 

mwVK DËiwU wb‡P †`qv n‡jv 

1. wPÎ Abzhvqx †Kvb we›`zwU A`¶ we› z̀? 

 

K) A   L) C   M) E   N) F 

2. wPÎvbzhvqx wb‡Pi †Kvb welqwU cÖKvk cvq? 

 

K) mz‡hvM e¨q      L) †fvM e¨q    M) Drcv`b e¨q     N) cÖvwšÍK e¨q 

 

3.‡gvU Dc‡hvM m‡e©v”P n‡j cÖvwšÍK Dc‡hvM n‡e- 

K) m‡e©v”P   L) me©wbgœ    M) k‚b¨    N) FYvZ¥K 

 

4. Pvwn`vi •ewkó¨ n‡jv-  

i) AvKv•Lv ii) Avw_©K mvg_¨© iii) A_© e¨‡qi B”Qv|  

wb‡Pi †KvbwU mwVK? 

K) i) I ii)    L) ii) I iii)    M) i) I iii)     N) i),  ii) I iii) 

 

5. we‡k¦ Kq ai‡Yi A_©e¨e¯ v cÖPwjZ Av‡Q? 

K) 1   L) 2   M) 3   N) 4 

 

6. Pvwn`v wewa Abzhvqx `v‡gi mv‡_ Pvwn`vi cwigv‡Yi m¤úK© †Kgb? 

K) m¤úK©nxb   L) mggzLx  M) wecixZgzLx   N) DfqgzLx 

 

7. evRvi fvimv‡g¨i kZ© †KvbwU? 

K) Pvwn`vi cwigvY = `vg                   L) †hvMv‡bi cwigvY = `vg 

M) Pvwn`vi cwigvY = †hvMv‡bi cwigvY    N) `vg = `Ö‡e¨i cwigvY 

 

8. wbZ¨cÖ‡qvRbxq `Ö‡e¨i w¯ wZ¯ vcKZvi gvb KZ? 

K) GK     L) G‡Ki †P‡q †ewk     M) G‡Ki †P‡q Kg    N) Amxg 



9. cÖ`Ë wPÎwU †Kvb evRv‡ii mv‡_ m¤úwK©Z? 

 

 K) GK‡PwUqv   L) c‚Y©cÖwZ‡hvwMZv   M) g‡bvcmwb   N) Awj‡Mvcwj 

10. wP‡Îi 'E' we›`z Kx wb‡`©k K‡i? 

 

K) ¯^vfvweK gzbvdv     L) A¯^vfvweK gzbvdv   M) Drcv`b eÜ Ae¯ v    N) ¶wZ 

 

11. Pvwn`vi `vg w¯ wZ  ̄vcKZv Kq ai‡Yi nq? 

K) 2   L) 3    M) 4    N) 5 

 

12. Pvwn`vi wba©viK n‡jv-  

i) `Ö‡e¨i wbR¯ ̂`vg ii) †fv³vi Avq iii) †hvMvb|  

 wb‡Pi †KvbwU mwVK? 

K) i) I ii)  L) ii) I iii)   M) i) I iii)    N) i),  ii) I iii) 

 

13. cwic‚iK Ö̀‡e¨i Pvwn`v †iLvi AvK…wZ †Kgb? 

K) evg w`K †_‡K Wvb w`‡K wbgœMvgx      L) evg w`K †_‡K Wvb w`‡K DaŸ©Mvgx 

M) f‚wg A‡¶i mgvšÍivj                     N) j¤̂ A‡¶i mgvšÍivj 

 

14.c‚Y© cÖwZ‡hvwMZvg‚jK evRv‡ii †¶‡Î cÖ‡hvR¨ n‡jv- 

K) AR=MR>P    L) P>AR=MR    M) AR=MR=P    N) AR>MR=P 

 

15. µgnÖvmgvb cÖvwšÍK Dc‡hvM wewa Abzmv‡i Ö̀‡e¨i †fvM e…w×i mv‡_ mv‡_ cÖvwšÍK Dc‡hvM- 

K) e…w× cvq    L) nÖvm cvq    M) w  ̄i _v‡K    N) ïb¨ nq 

 

16| K…lKiv †¯^”Qvq ci¯ú‡ii Rwg GKwÎZ K‡i †h Lvgvi M‡o †Zv‡j Zv‡K e‡j 

K) e¨w³MZ Lvgvi      L) ¶z`ÖvqZb Lvgvi      M)mgevq Lvgvi     N)   ‡h․_ Lvgvi 

 

17| mgq Gi wfwË‡Z evsjv‡`‡k K…wlFY †K Kq fv‡M fvM Kiv hvq? 

K) 2     L) 3      M) 4      N) 5 

 

18| †KvbwU •ewk¦K DòZv Øviv cÖfvweZ bq? 

K) mgz`Öc…‡ôi D”PZv e…w×       L) jeYv³Zv e…w×     M) f‚wgK¤ú     N) mvB‡K¬vb 

 

19| km¨ eûgzLxKiY Gi d‡j evsjv‡`‡ki A_©bxwZ‡Z †h cÖfve j¶¨ Kiv hvq- 

i) Kg©ms¯ vb K‡g hvq     ii) gvwUi DeiÖZv A¶zbœ _v‡K      iii ) Drcv`b SzuwK nÖvm cvq 

wb‡Pi †KvbwU mwVK? 

K) i I ii     L ) ii I iii      M) i I ii     N) i, ii I iii 

20| K…wl‡Z AvB.wm.wU †Kb e¨envi n‡”Q 

i.c‡Y¨i evRviRvZKi‡Y      ii.K…wl welqK mgm¨v mgvav‡b      iii.K…wl welqK mgm¨v wPwýZKi‡Y 

wb‡Pi †KvbwU mwVK? 

K) i I  ii     L ) ii I iii     M)  i I iii     N) i, ii I iii 

wb‡Pi DÏxcKwU co Ges 21bs cÖ‡kœi DËi `vI| 

Kwig Zvi 2‡Q‡j I ¿̄xmn K…wl KvR K‡i|‡m GK weNv Rwg‡Z Pvlvev` K‡i RxweKv wbe©vn K‡i| 

 

21| Kwi‡gi LvgviwU wK ai‡bi Lvgvi? 

K) evwYwR¨K Lvgvi       L ) ‡h․_g‚jabx Lvgvi      M)mgevq Lvgvi    N)Rxeb wbe©vnx Lvgvi 



22| evsjv‡`‡ki cÖPwjZ ißvwb cY¨ †KvbwU? 

K) •Zwi †cvkvK     L) wngvwqZ Lv`¨      M) cvURvZ `Öe¨  N) n¯Í wkíRvZ `Öe¨| 

 

23| ivRkvnx wPwbKj GKwU--- 

K) cøv›U     L) dvg©       M) wkí     N) KzwUi wkí 

 

24| Pv M‡elYv Bbw÷wUDU †Kv_vq Aew¯ Z? 

K ) kÖxg½j       L ) ‡g․jfxevRvi      M) nweMÄ     N) cÂMo 

 

25| Pvgov wkíwU nj- 

i. GKwU e…nr wkí      ii. ißvwbgzLx wkí     iii cÖwµqvKiY wkí 

wb‡Pi †KvbwU mwVK? 

K) i I ii       L) ii I iii    M ) i  I iii    N) i ,ii I iii 

wb‡Pi DÏxcKwU co Ges 26bs cÖ‡kœi DËi `vI| 

‡invbv GKwU wkí cÖwZôv‡b KvR K‡i| GB wkí n‡Z †gvU ißvwb Av‡qi cÖvq 80% AwR©Z nq| GwU †`‡ki Rb¨ ¸iæZ¡c‚Y© n‡jI GB wk‡íi 

mgm¨v A‡bK| 

 

26| DÏxc‡K DwjøwLZ wkí †KvbwU? 

K) cvU wkí     L) ‣Zwi †cvkvK wkí     M)Pvgov wkí     N) wewo wkí 

 

27| Lv`¨ wbivcËvi gva¨‡g wbwðZ nq 

K) †g․wjK Lv‡`¨i cÖvc¨Zv        L) AwaK K¨vjwihz³ Lv‡`¨i cÖvc¨Zv  

M ) m¯Ív Lvev‡ii cÖvc¨Zv         N) ‣ewPÎgq Lv‡`¨i cÖvc¨Zv 

 

28| †Kqvi wK ai‡bi cÖwZôvb? 

K) GKwU we`¨zr Drcv`b †K› Ö̀    L) GKwU BÝ¨z‡iÝ †Kv¤úvwb     

M) GKwU †emiKvwi ms  ̄v          N) GKwU Dbœqb e¨vsK| 

 

29| Lv`¨ wbivcËv AR©‡b †KvbwU m‡e©vËg e¨e¯ v? 

K) Lv`¨ Drcv`b      L) Lv`¨ Avg`vwb     M) Lv`¨ eÈb    N)  Lv`¨ msi¶Y 

 

30| wbivc` Lv`¨ ej‡Z Kx †evSvq? 

K ) `vwg Lv`¨  L)  ¯̂v¯ ¨m¤§Z Lv`¨    M)   we‡`wk Lv`¨ N)   digvwjb hz³ Lv`¨| 

 

DËi: AZ©bxwZ 

1| M 2| K 3| M 4| N 5| N 6| M 7| M 8| M 9| L 10| K 11| N 12| K 13| K 14| M 15| L 

16|M 17|L 18|M 19|L 20|L 21|N 22|M 23|L 24|K 25|N 26|L 27|K 28|M 29|K 30|L 



XvKv Kgvm© K‡jR 

1g el© evwl©K (3q cvwe©K) cix¶v 2020 

†k«wY - GKv`k 

welq - f~‡Mvj ( 1g I 2q cÎ )                                                    welq †KvW - 125 , 126 

mgq - 30 wgwbU                                                                                    c~Y©gvb  - 30 

mwVK DËiwU wPý K‡i †`qv n‡jv 

1.  evqygÛ‡j  †Kvb M¨v‡mi cwigvb  me©vwaK? 

K) Kve©b 

L) Aw·‡Rb 

M) nvB‡W«v‡Rb 

N) bvB‡U«v‡Rb 

2| Rxevk¥ R¡vjvbx ‡KvbwU ? 

K) †m․i kw³ 

L) evqy kw³ 

M) c«vK…wZK M¨vm 

N ) •Re M¨vm 

3| KjKviLvbvi †avuqv †_‡K wbM©Z nq †KvbwU? 

K) wbqb 

L) Kve©b 

M) †Rbb 

N) AvM©b 

4| c…w_exi AvenvIqv I Rjevqyi Rb¨ `vqx ‡KvbwU? 

K) Ak¥gÛj 

L) evwigÛj 

M) evqygÛj 

N) RxegÛj 

5| I‡Rvb M¨v‡mi ms‡KZ †KvbwU ? 

K)  N2 

L)  O2 

M) O3 

N) CO2 

6| ÷«v‡Uvwùqv‡ii Da©emxgv‡K wK ejv nq ? 

K)  U«‡cvcR 

L)  ÷«v‡UvcR 

M) †g‡mvcR 

N) _v‡g©vcR 

7| †Kvb Í̄‡i Avq‡bi cwigvb ª̀æZ e…w× cvq ? 

K)  _v‡g©vwùqvi 

L) G‡·vwùqvi 

M) †g‡mvwùqvi 

N) ÷«v‡Uvwùqvi 

8| Kvb Í̄iwU c«vqB †gN ïb¨ _v‡K ? 

K) ÷«v‡Uvwùqvi                                          

L) U«‡cvwùqvi 

M) †g‡mvwùqvi 

N) _v‡g©vwùqvi 

9| evqygÛ‡ji kZKiv 99 fvM MVbKvix M¨vm ----  

  i)  bvB‡U«v‡Rb  

  ii)  Aw·‡Rb    

  iii)  Kve©b WvB A·BW                  

K)  i),   ii)   

L)    i),    iii)   

M)    ii),  iii)    

N)    i),  ii),  iii)       

10. Acid rain  Gi Rb¨ `vqx  i) SO2 ii) NO2 iii) CO2  

K) i & ii     

L)  i & iii 

M)  ii & iii 

N)  i ,ii & iii  
11|   wegvb PjvPjKvix cRwUi bvg wK ?  

K)  U«‡cvcR           

L)  ÷«v‡UvcR  

M) †g‡mvcR  

N) _v‡g©vcR 



 

12. evqy g‡Ûj †Kvb Í̄i †_‡K †eZvi Zi½ cÖwZdwjZ nq?  

K) ÷«v‡Uvwùqvi                                          

L) U«‡cvwùqvi 

M) †g‡mvwùqvi 

N) _v‡g©vwùqvi 

13| evqy `~l‡Y f~wgKv iv‡L -----   i) `vevbj  ii)  wM«b nvDm  iii) GM‡Rvó M¨vm   

  wb‡Pi ‡KvbwU mwVK ? 

K) i & ii     

L)  i & iii 

M)  ii & iii 

N)  i ,ii & iii  

 

14| wek¦ Dòvq‡bi KviY----i) CFC M¨vm,   ii) CO2M¨vm, iii) N2O M¨vm ,        

 wb‡Pi ‡KvbwU mwVK ?  

K) i & ii     

L)  i & iii 

M)  ii & iii 

N)  i ,ii & iii  
15|wM«bnvDm c«wZwµqvi Dci ‡KvbwUi c«fve ‡ekx? 

K)  Aw·‡Rb   

L)  Kve©b WvB A·vBW 

M) bvB‡U«v‡Rb 

N) Rjxq ev¯ú 

16| †KvbwU evsjv‡`‡ki A_©Kix dmj ? 

K) cvU   

L) avb  

M) Wvj  

N) Mg 

17| we‡`‡k ißvbx nq ‡KvbwU ? 

K) ce`v gvQ    

L) •K gvQ   

M) wPswo  

N) wks gvQ   

18| BRRI I IRRI G m`i `ßi †Kv_vq  ? 

K) fviZ I Pxb    

L) evsjv‡`k I Pxb   

M) evsjv‡`k I wdwjcvBb  

N) Pxb I Rvcvb    

19| evsjv‡`‡ki  RvZxq Av‡qi c«avb Drm ‡KvbwU? 

K) K…wl cY¨    

L) wkí cY¨  

M) ißvwb `«e¨  

N) ebR m¤ú`    

20| Pv Pv‡li Dc‡hvMx Rjevqy       i ) e…wócvZhy³,   ii)  Dò , iii)  Av «̀©            

 wb‡Pi  ‡KvbwU mwVK ? 

K) i & ii     

L)  i & iii 

M)  ii & iii 

N)  i ,ii & iii  

21| c…w_exi '' iæwUi Sywo ''bv‡g L¨vZ †Kvb AÂj ? 

K Px‡bi Bqvswm    

L) ivwkqvi mvB‡ewiqv   

M) DËi Av‡gwiKvi †c«Bix  

N) cvwK¯Ívb  wmÜy c«‡`k    

22| c…w_exi me©vwaK AvL Drcv`bKvix  †`k ‡KvbwU ? 

K) _vBj¨vÛ    

L) e«vwRj 

M) B‡›`v‡bwkqv 

N) †gw·‡Kv 

23| grm¨ Lv‡Z ¸iæZ¡c~Y© f~wgKv cvjb K‡i----     i) AvZ¥Kg©ms  ̄vb, ii) `vwi «̀ we‡gvPb, 

 iii)  c«vwYR Avwgl mieivn I ‣e‡`wkK evwbR¨             

  

†KvbwU mwVK wb‡Pi ? 

K) i & ii     

L)  i & iii 

M)  ii & iii 

N)  i ,ii & iii  



 

24| wb‡Pi ‡Kvb ‡`kwU avb Drcv`‡b 6ô wKš‧ ißvbx‡Z 1g ?      

K) evsjv‡`k   

L) e«vwRj  

M) cvwK Í̄vb   

N) _vBj¨vÛ      

25| Px‡bi †Kvb c«‡`k‡K "av‡bi Avavi" ejv nq ? 

K) †nvqvs‡nv    

L) BqvswmwKqvs   

M) mPyqvb AeevwnKv  

N) ûbvb         

26| AvL †Kvb AÂ‡ji dmj ? 

K) DògÛj    

L) wng gÛj   

M) kxZ c«avb  

N) bvwZkx‡Zvò  

27| Pv Drcv`‡b kx‡l© †Kvb †`k? 

K) kÖxjsKv    

L) †Kwbqv   

M) fviZ  

N) gvjØxc     

28| GKB Rwg‡Z wewfbœ eQi wewfbœ cÖKvi dmj Pv‡li e¨e  ̄v‡K ------ 

K) kl¨veZ©b    

L)  †mP  

M)  UªvK 

N)  wgkÖ 

29| cvbxq RvZxq dmj ‡KvbwU ? 

K) avb    

L) Mg   

M) Pv  

N) Avj   

30| K…wl Dbœq‡b Ae`vb iv‡L-----i ) BADC,   ii) BARC,    iii) BRRI                   

 wb‡Pi ‡KvbwU mwVK ? 

K) i & ii     

L)  i & iii 

M)  ii & iii 

N)  i ,ii & iii  



XvKv Kgvm© K‡jR 

3q cvwe©K cix¶v 2020 

†kªwYt GKv`k 

welqt Mvn©̄  ¨ weÁvb                             welq †KvWt 273 I 274 

mgqt 30 wgwbU                                                c~Y©gvbt 30 

mwVK DËiwU wPý K‡i †`qv n‡jv 

1| B‡Kevbv wk‡í Z…Zxq av‡ci WvjwUi D”PZv KZ? 

K) 1g Wv‡ji 3/4 Ask  

L) 2q Wv‡ji 3/4 Ask 

M) 1g Wv‡ji 1/2 Ask 

N) 2q Wv‡ji 1/2 Ask  

2| cy®cm¾vi aiY KqwU?  

K) 2 

L) 3 

M) 4 

N) 5  

3| AvmevecÎ web¨v‡mi bxwZ †KvbwU?  

K) Avmev‡ei g~j¨ 

L)  ̄vwqZ¡  

M) PjvP‡ji myweav 

N) KvizKvh©  

4) †Kvb is Dò fve cÖKvk K‡i?  

K) jvj 

L) bxj  

M) meyR 

N) †e¸wb  

5) Avmev‡ei ¯ vwqZ¡ wbf©i K‡i - 

i) DcKi‡Yi Ici    ii) `v‡gi Ici     iii)  wbg©vYKv‡Ri Ici 

wb‡Pi †KvbwU mwVK?  

K) i ও ii  

L) i ও iii 

M) ii ও iii 

N) i, ii ও iii 
6) cwi‡e‡ki fvimvg¨ i¶vq GKwU †`‡ki kZKiv KZ fvM ebf‚wg _vKv cÖ‡qvRb?  

K) 20  

L) 25  

M) 30  

N) 35  

7) AcwiKwíZ eR ©̈ I c‡qvwb®‥vk‡bi d‡j ~̀wlZ nq -  

i) gvwU      ii) cvwb      iii) evqy  

wb‡Pi †KvbwU mwVK?  

K) i ও ii 

L) i ও iii 

M) ii ও iii 

N) i, ii ও iii 
8) cÖK…wZMZfv‡e cwi‡ek ~̀lY‡K cÖavbZ Kq fv‡M fvM Kiv hvq?  

K) 2 

L) 3 

M) 4  

N) 5  

9) I‡Rvb¯Íi Avgv‡`i †Kvb iwk¥ †_‡K i¶v K‡i?   

K) Av‡jvK 

L) Mvgv 

M) iÄb   

N) AwZ‡e¸bx  

10) `y‡h©vM e¨e¯ vcbv e¨y‡iv cÖwZwôZ nq KZ mv‡j?   

K) 1987 

L) 1988 

M) 1991 

N) 1993  

11) LÏi kãwU †Kvb kã †_‡K G‡m‡Q?  

K) gvivwV 

L) ¸RivwU  

M) Zvwgj  

N) cvÄvex  



12) wb‡Pi †KvbwUi evsjv A_© Mi`? 

K) †ebviwm 

L) LÏi  

M) Rvg`vwb  

N) †ikg  

13) gwYcywi‡`i †cvkvK nj - 

i) Les      ii) Avwns       iii) Bbœvwd   

wb‡Pi †KvbwU mwVK?  

K) i ও ii 

L) i ও iii  

M) ii ও iii 

N) i, ii ও iii  
14) Uv½vBj kvwo •Zwi‡Z †Kvb ZvuZ e¨envi Kiv nq? 

K) MZ© ZvuZ 

L) n¨vÛjyg 

M) R¨vKvW©  

N) cvIqvi jyg  

15) cÖvsLs †Kvb Rb‡Mvôxi †cvkvK?  

K) PvKgv 

L) gwYcywi 

M) ivLvBb 

N) Lvwmqv  

16) †cÖvwU‡bi cwicvK wµqv †Kv_vq ïi nq?  

K) gyLweei 

L) Abœbvwj 

M) cvK¯ jx 

N) ¶z`ªvš¿  

17) gvbe kix‡ii me‡P‡q eo MÖwš  †KvbwU? 

K) AMœvkq 

L) e„n`š¿ 

M) ¶z`ªvš¿ 

N) hK…r  

18) gvbe‡`‡n KzÛjx cvwK‡q _vKv ¶z ª̀v‡š¿i •`N¨© KZ?     

K) cÖvq 5 dzU 

L) cÖvq 7 dzU 

M) cÖvq 17 dzU  

N) cÖvq 25 dzU 

19) jvjvi‡mi †Kvb GbRvBg kK©iv cwicv‡K mnvqZv K‡i? 

K) Av¨gvB‡jR 

L) Uvqvwjb  

M) Av¨gvB‡jvcwmb 

N) g‡ëR  

20) gvbe‡`‡n †c․wóKbvwji Ask KqwU? 

K) 3wU 

L) 6wU 

M) 7wU 

N) 10wU 

21| d¨vU cwicv‡K Acwinvh© †KvbwU? 

K) jvB‡cR 

L) wcËjeY 

M) wcË 

N) G÷v‡iR  

22| †KvbwUi Afv‡e Wvqv‡ewUm nq? 

K) A¨vjeywgb 

L) Bbmywjb 

M) M­ KvMb  

N) Uvqvwjb 

23| EDD Gi c~Y©iƒc wK? 

K) Exclusive Date of Delivery 

L) Expiration Date of Delivery 

M) Examination Date of Delivery  

N) Expected Date of Delivery 



24| wbD‡gvK°vj RwbZ wbD‡gvwbqvi wUKvi bvg wK? 
K) †c›Uvfv‡j›U 

L) wne 

M) wcwfwm 

N) Gg Avi  

25) beRvZK Kv‡ji mgqmxgv KZw`b? 

K) 14 

L) 20 

M) 24 

N) 48  

26| Iwcwf wUKv †Kvb †ivM cÖwZ‡iva K‡i? 

K) iz‡ejv   

L) nvg 

M) †cvwjI 

N) wWc‡_wiqv  

27| wkï‡`i 10wU †iv‡Mi Rb¨ KqwU wUKv †`qv nq? 

K) 3wU 

L) 6wU 

M) 10wU 

N) 12wU 

28| AvcMvi  †U÷ †¯‥vi KZ nIqv wkïi Rb¨ DËg?  

K) 0-3 

L) 6-10  

M) 7-9  

N) 8-10  

29| beRvZK Aw·‡Rb bv cvIqvi j¶Y wK? 

K) R‡b¥i ciciB k¦vmKó nIqv 

L) kix‡ii ZvcgvÎv K‡g hvIqv 

M) wkï R‡b¥i ci bv Kvu`v 

N) †`‡n wLuPzwb †`Lv †`Iqv  

30| bZzb cwi‡e‡k Awf‡hvRb Ki‡Z beRvZ‡Ki wK cwigvY IRb nªvm cvq? 

K) 5% 

L) 10% 

M) 15% 

N) 20%  

 

DËigvjv: Mvn©¯ ̈  weÁvb 

1 N 2 M 3 M 4 K 5 L 6 L 
7 K 8 M 9 N 10 N 11 L 12 N 
13 M 14 M 15 M 16 M 17 N 18 M 
19 L 20 L 21 M 22 L 23 N 24 M 
25 K 26 M 27 L 28 N 29 M 30 L 

 

                            

 
 

 

 

 

 

 

 



XvKv Kgvm© K‡jR 

1g el© mgvcbx (3q ce©) cixÿv- 2020 

†kÖwY : GKv`k 

c`v_©weÁvb (1g I 2q cÎ)                                                 welq †KvW : 174 

mgq—30 wgwbU              [eûwbe©vPwb Afxÿv]                            c~Y©gvb— 30 

mwVK DËiwU wPwýZ K‡i †`qv n‡jv 

1| †KvbwU GKgvwÎK MwZi D`vniY? 
 

K) UvP w¯…‡b Av½y‡ji MwZ  L) †Uwej †Uwbm e‡ji MwZ  

M) gy³ fv‡e cošÍ e ‧̄i MwZ N) k~b¨ ¯ v‡b gkvi MwZ 

 

2|  

 

 

Dc‡ii v-t †jLwPÎ Abymv‡i- 

 

(i) v = v0+at,  (ii) Z¡iY FYvZœK,  (iii) ej abvZœK  

wb‡Pi †KvbwU mwVK- 

K) (i)     L) (i) I (ii)  

M) (i) I (iii)       N) (ii) I (iii)   

3| GKwU UªvK †_‡K 6 m/s †e‡M MšÍ‡e¨ †c․u”Qvq Ges 4 m/s †e‡M c~‡e©i ¯ v‡b wd‡i Av‡m| UªvKwUi Mo †eM KZ? 

K) 4.5   L) 4.8 

M) 5    N) 5.2 

4| cÖv‡mi MwZc_ GKwU- 
 

K) e„Ë    L) Dce„Ë 

M) c¨viv‡evjv    N) mij‡iLv 

5| cÖv‡mi Pj‡iLvi mgxKiY
162

3
2

gx
xy  n‡j  

cÖvmwUi †e‡Mi Abyf~wgK Dcvsk KZ? (ivwk¸‡jv SI GK‡K cÖ`Ë) 

K) 3    L) 6 

M) 9    N) 81 

6| GKwU cÖv‡mi D”PZv‡K wb‡¤œi mgxKi‡Yi mvnv‡h¨ cÖKvk Kiv n‡jv, h(t)=  - t
2
+4t+2; KZ †m‡KÛ ci cÖvmwU f~wg †_‡K 5m DPy‡Z 

_vK‡e?  

K) 1.5   L) 2 

M) 2.5   N) 3 

7|  ⃗  (    ̂    ̂    ̂)  e‡ji wµqvq GKwU e¯‧ cÖ_‡g abvZœK Y Aÿ eivei 4 m Ges c‡i FYvZœK Z Aÿ eivei 3m m‡i †Mj| 

K…Z KvR KZ?
 

K) 6 J    L) 17 J 

M) 18 J    N) 24 J 

8| f~wg n‡Z   D”PZvq   f‡ii GKwU e ‧̄‡K   e¨vmv‡a©i e„ËvKvi c‡_   mg`ªæwZ‡Z ‡Nviv‡bv n‡”Q| †K›`«gyLx ej Øviv K…Z KvR- 

K)      L)        

M) 
   

 
    N) 

 

 
    

9| wefe kw³i GKK- 

K) HP    L) Ns 

M) J/kg    N) J 

10| wb‡Pi †KvbwU MwZkw³ ebvg †e‡Mi mwVK †jLwPÎ? 

 

     Ek                 Ek    

 

K)       v         L)                v        

      Ek             Ek  
 
M)                v   N)                          v   

 

11| ej I mi‡Yi ga¨eZx †KvY KZ n‡j e‡ji weiæ‡× KvR m¤úbœ n‡e? 

K) 0
0
    L) 45

0
 

M) 85
0
    N) 95

0 

12| †KvbwU AmsiÿYkxj ej?
 

K) Zwor ej   L) †P․¤̂K ej  

M) gnvKl© ej   N) Nl©Y 

v 

t 



13| wb‡Pi †KvbwU mwVK? 

K) 
m

p
Ek

2
    L)  kmEp 2  

 M) 
m

p
Ek

22
    N)  k

Emp 22  
 

14| cošÍ e ‧̄i mgq Pvi¸Y Ki‡j AwZµvšÍ `~iZ¡ KZ n‡e? 

K) Pvi¸Y   L) AvU¸Y  

M) evi¸Y   N) †lvj¸Y 

15| hw` c„w_exi N~Y©b †_‡g hvq Zvn‡j e ‧̄i IRb Ñ 

K) †ewk n‡e   L) Kg n‡e 

M) k~b¨ n‡e   N) AcwiewZ©Z _v‡K 

16| 36x105 kg I 9x105 kg f‡ii `ywU e¯‧i ga¨eZx© `~iZ¡ 9km n‡j ms‡hvRK †iLvi †Kvb we›`y‡Z 50 kg f‡ii e¯‧i Dci wµqvkxj jwä 

ej k~b¨ n‡e? 

K)  1.65 km   L) 2.5 km   

M) 3.64 km   N) 6 km 

17| f‚-w¯ i DcMÖ‡ni (c„w_exi †ÿ‡Î) ch©vqKvj KZ? 

K) 1 gvm   L) 1 mßvn 

M) 1 w`b    N) 1 NÈv 

18| gnvKlx©q †ÿ‡Îi evwn‡i gnvKlx©q wefe- 

(i) k~b¨,   (ii) m‡e©v”P,   (iii) me©wb¤œ  

wb‡Pi †KvbwU mwVK- 

K) (i)        L) (i) I (ii)  

M) (i) I (iii)       N) (i), (ii) I (iii) 

19| wØ- cvigvYweK M¨v‡mi w¯ i Pv‡c †gvjvi Av. Zv‡ci Rb¨ wb‡Pi †Kvb †jLwPÎwU mwVK?  

Cp      Cp     

 

      T   T 
      K)       L)   

        Cp                  Cp    

 

      M)   T              N)  T  
 

20| †iv‡ai wecixZ ivwk‡K wK e‡j?  

K) cwievnxZv   L) cwievnxZv¼   
M) cÖevn   N)  wefe 

21| mv›U cÖev‡ni mgxKiY n‡jv- 

K) (G+S)I/S   L) (G+S) I/G 
M) GI/(G+S)   N)  SI/(G+S) 
22| mvwK©UwU jÿ¨ Ki- 

 

 
 

 

 

 

 

 
 

 

 

 

 

 

Dc‡ii mvwK©‡Ui g~j cÖevn (I) KZ? 

K) 7.5 A    L) 11 A   

M) 12.5 A     N) 15 A 

23| ûBU‡÷vb weª‡Ri Pvi evû‡Z h_µ‡g 5, 10, 12, 21 Ing †iva hy³ Av‡Q| 4_© evû‡Z KZ gv‡bi †iva †kªwY mgev‡q e¨envi Ki‡j weªRwU 

mg¨e¯ vq _vK‡e? 

K) 3 Ω    L) 4 Ω  

M) 5 Ω    N) 6 Ω 
24| ZvcgvÎv e„w× †c‡j wb‡Pi †KvbwUi †iva e„w× cvq?  

K) wUb    L) mvjdvi   
M) wmwjKb   N)  †K¬vwib 

             10Ω        

    8Ω          8Ω   

         6Ω 

     4Ω           4Ω 

I        4Ω                   4Ω 

E= 48 V 



25| cv‡ki mvwK©‡Ui cÖ‡Z¨KwU †iv‡ai gvb  

6 Ω n‡j eZ©bxi Zyj¨ †iva KZ? 

 

K) 1.5 Ω   L) 6 Ω   
M) 8 Ω     N) 10 Ω 

 
26| iƒ×Zvcxq cÖwµqvq †Kvb †f․Z ag© w  ̄i _v‡K? 

K) Pvc    L) ZvcgvÎv  
M) Af¨všÍixY kw³  N)  G›Uªwc 

 

27| GKwU wUD‡ei Af¨šÍ‡i evqyi Pvc I AvqZb h_vµ‡g 2.5atm I 0.25 m
3
 | wUDewU nVvr †d‡U †M‡j Gi ga¨w  ̄Z evqyi ZvcgvÎv I 

AvqZb h_vµ‡g- 

K) Kg‡e I evo‡e  L) evo‡e I Kg‡e 
M) DfqB Kg‡e   N)  DfqB evo‡e 
 

28| U  Af¨šÍixY kw³i Av`©k M¨v‡mi AvqZb mg‡òv cÖwµqvq A‡a©K Kiv n‡j Af¨šÍixY kw³ KZ n‡e?  

K) 0    L) U   

M) U/2   N)  U/4 
 

29| GKwU c~Y© Kv‡bv© P‡µ ms‡KvPb I cÖmvi‡Yi AbycvZ KZ? 

K)  1:1   L) 1:2   

M) 2:1    N) 3:1 

 

30| AcÖZ¨veZx© cÖwµqv n‡jv- 

(i) `ªæZ cÖwµqv,    (ii) axi cÖwµqv,   (iii) ¯^Ztù‚Z© cÖwµqv  

wb‡Pi †KvbwU mwVK- 

K) (i)        L) (i) I (ii)  

M) (i) I (iii)       N) (i), (ii) I (iii) 
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1. Which is the example of one-dimensional motion? [Answer: (b)] 

    a) motion of fingers on touch screen  b) motion of falling object 

    c) motion of a ball on table tennis   d) motion of a mosquito in free space 

 

 

 
 

According to the above v-t graph- 

(i) v = vo + at  (ii) negative acceleration  (iii) positive force 

2. Which of the following is true? [Answer: (c)] 

    a) (i)    b) (i) & (iii) 

    c) (i) & (ii)   d) (ii) & (iii) 

3. A truck reach its target point at 6 ms
-1

 and back to initial point at velocity 4 ms
-1

. What is the average velocity 

of the truck? [Answer: (c)] 

    a) 5.2 ms
-1

    b) 5 ms
-1

 

    c) 4.8 ms
-1

     d) 4.6 ms
-1

 

4. Trajectory of a projectile is- [Answer: (c)] 

    a) circular    b) elliptical 

    c) parabola     d) linear 

5. If [y = x√  
   

   
] is the equation of projectile motion of any object, what is the horizontal component of 

velocity of this projection? (All terms are in SI unit). [Answer: (c)] 

    a) √      b) 6 

    c) 9       d) 81 

6. Height of a projectile is expressed by equation of h(t) = - t
2
 + 4t + 2; how seconds later the projectile will in 

5m height from earth surface? [Answer: (d)] 

    a) 1.5 sec     b) 2 sec 

    c) 2.5 sec      d) 3 sec 

7. A body moves 4m along positive Y-axis and then 3m along negative Z-axis due to the force of  ⃗  

(    ̂    ̂    ̂) . How much work is done in this case? [Answer: (b)] 

    a) 6 J     b) 17 J 

    c) 18 J      d) 24 J 

8. An object of mass m is rotating with uniform velocity v in a circular path of radius r in height h from earth. 

Total work-done by the centripetal force- [Answer: (a)] 

    a) 0     b) mgh 

    c) 
   

 
      d) 

 

 
    

9. Which of the following is correct for the graph of kinetic energy (Ek) vs velocity (v)? [Answer: (b)] 

    a) Ek      b) Ek  

            v          v 

   c) Ek                                        d) Ek 

 

      v                  v 

10. Unit of the potential energy- [Answer: (b)] 

    a) HP     b) J 

    c) J/kg      d) Ns 

11. To get negative work which is essential angle between force and displacement? [Answer: (d)] 

    a) 0
0
     b) 45

0
 

    c) 85
0
      d) 95

0
 

12. Which is the non-conservative force? [Answer: (d)] 

    a) electric force     b) magnetic force 

    c) gravitational force     d) frictional force 

13. Which of the following is true? [Answer: (b)] 

    a) 
m

p
Ek

2
      b) kmEp 2  

    c) 
m

p
Ek

22
       d) k

Emp 22  

14. If time increases four times, what times will be height in case of falling object? [Answer: (d)]   
     a) four times    b) eight times 

     c) twelve times     d) sixteen times 

v 

t 



15. If there is no rotation of the earth, then the weight of object will- [Answer: (a)] 

      a) increase    b) decrease 

      c) zero      d) remain unchanged 

16. The time period of the geo-stationary satellite (for earth) is- [Answer: (c)] 

      a) 1 month    b) 1 weak 

      c) 1 day      d) 1 hour 

17. Two objects are in 9m apart of 36×10
5
 kg & 9×10

5
 kg. Which point on their connecting line have zero 

resultant force of 50 kg another object? [Answer: (d)] 

      a) 1.63 km    b) 2.5 km 

      c) 3.64 km     d) 6 km 

18. Outside of the gravitational field the gravitational potential is- [Answer: (b)] 

(i) zero  (ii) maximum   (iii) minimum 

Which of the following is correct? 

    a) (i)    b) (i) & (ii) 

    c) (ii) & (iii)   d) (i), (ii) & (iii) 

19. Which physical phenomenon is constant in adiabatic process? [Answer: (d)] 

      a) pressure    b) temperature 

      c) internal energy    d) entropy 

20. The irreversible process is- [Answer: (c)] 

(i) fast process 

(ii) slow process 

(iii) spontaneous process 

Which of the following is right answer?  

    a) (i)    b) (i) & (ii) 

    c) (i) & (iii)   d) (i), (ii) & (iii) 

21. Air pressure and volume are 2.5 atm and 0.25 m
3
 respectively inside a tube. How about the temperature and 

volume respectively of inside air of that tube after destroying it suddenly? [Answer: (a)] 

      a) decrease & increase  b) increase & decrease       

      c) both are decreases   d) both are increases 

22. The ratio between contraction and expansion in a complete Carnot‘s cycle is- [Answer: (a)] 

      a) 1:1     b) 1:2 

      c) 2:1     d) 1:3 

23. Which is correct for molar specific heat at constant pressure of diatomic gas? [Answer: (b)] 

     a) Cp b) Cp  

 

T     T 

    c) Cp d) Cp 

 

                            T      T 

24. Initially an ideal gas has internal energy U, if the volume is changed by half of that gas in isothermal process 

then how will be the changed internal energy? [Answer: (c)] 

      a) U/4     b) U/2 

      c) U     d) 0 

25. What is the parameter of inverse of resistance? [Answer: (a)] 

      a) Conductance   b) Conductivity 

      c) Current flow    d) Electric potential 

26. Which is right for Shunt current? [Answer: (c)] 

      a) {(G+S)/S} I    b) {(G+S)/G} I 

      c) {G/(G+S)} I    d) {S/(G+S)} I 

27. Resistances of the four arms of a Wheatstone bridge are 5Ω, 10Ω, 12Ω, 21Ω respectively. What amount of 

resistance is to be connected in the fourth arm in series combination so that the bridge become equilibrium? 

[Answer: (c)] 

      a) 24 Ω     b) 4 Ω 

      c) 3 Ω     d) 1 Ω 

28. Resistance increase of which material with the increase of temperature? [Answer: (a)] 

      a) Tin    b) Sulphur 

      c) Silicon    d) Chlorine 



 

29.  

 

                       10Ω             

 

                               6 Ω 

 

 

 

 

 

 

 

 

 

 

What is the total value of current flow of the above figure? [Answer: (d)] 

      a) 7.5 A     b) 11 A 

      c) 12.5 A    d) 15 A 

30.  

 

 

 

 

 

 

 

 

The value of each resistance is 6 Ω of above circuit, which is the equivalent resistance of the circuit? [Answer: 

(c)]  

      a) 1.5 Ω     b) 6 Ω 

      c) 8 Ω    d) 10 Ω 

 

     4Ω           4Ω 

I        4Ω                   4Ω 

E= 48 V 

8 Ω 

8 Ω 



XvKv Kgvm© K‡jR 
1g el© PzovšÍ (3q ce©) cix¶v, 2020 

†kªbxt GKv`k 

welqt imvqb 1g I 2q cÎ                                 welq †KvWt 176 I 177 

mgqt 30 wgwbU                                                         †gvU gvbt 30 

eû wbe©vPbx Afx¶v 
 

mwVK DËiwU jvj wPý K‡i †`qv n‡jv 

1. wkLv cix¶vq †mvwWqvg Kx eY© †`q?  

 jvj   

 B‡Ui gZ jvj 

 †mvbvjx njy` 

 †e¸bx  

2. Avjdv KYvi fi B‡j±ª‡bi †P‡q- 

 †ekx 

 Kg  

 A‡bK †ekx  

 †ekx mgvb  

3. iv`vi‡dv‡W©i Avjdv KYv we‡¶cY cix¶vq mbv³Kvix c ©̀vq †Kvb c`v‡_©i AveiY _v‡K? 

 PbS 

 ZnS 

 CaS 

 FeS 
4. wb‡Pi †KvbwU K‡¤cvwRU KwYKv ? 

 cwRUªb 

 wWD‡Uib 

 Møyæqb 

 B‡jKUªb  

5. AvB‡mv‡Uv‡bi †¶‡Î wb‡Pi †KvbwU mwVK ? 

 †cÖvUb msL¨v Awfbœ 

 wbDUªb msL¨v Awfbœ 

 fi msL¨v Awfbœ 

 B‡j±ªb msL¨v Awfbœ 

6. wb‡Pi †Kvb AiweUv‡ji kw³ AwaK? 

 2d 

 3s 

 3d 

 4s 
7. D”P kw³ Í̄i n‡Z nvB‡Wªv‡Rb cigvYyi B‡j±ªb Z…Zxq kw³ Í̄i ¯ vbvšÍi n‡j wb‡Pi †Kvb wmwiR cvIqv hvq? 

 jvB‡gb wmwiR 

 c¨v‡ðb wmwiR 

 evgvi wmwiR 

 dzÛ wmwiR 

8. †evi cigvYy ZË¡ wb‡Pi †Kvb wUi eY©vwj e¨vL¨v Ki‡Z cv‡i bv? 

 He (2+) 

 Li (2+) 

 Li 

 Be (3+) 

9. d-AiweUv‡ji AvK…wZ †Kgb? 

 wW¤^vK…wZ 

 †MvjvKvi 

 Wv¤^‡ej AvK…wZ 

 Wvej Wv¤^‡ej AvK…wZ 

10. AvB‡mv‡Uv‡ci †¶‡Î wb‡Pi †KvbwU mwVK?    

 fi msL¨v mgvb 

 †cÖvUb msL¨v mgvb 

 wbDUªb msL¨v mgvb 

 †KvbwUB bq 

11. wb‡Pi †KvbwU Wvë‡bi m~‡Îi cÖKvk? 

 P=(p1+p2+p3..........) 

 P=nRT/V 

 P= X. po  

 P= (n1+n2)RT/V 



12. ZvcgvÎvi mv‡_ AvqZb e„w× cvq †Kvb m~‡Î? 

 e‡q‡ji m~‡Î 

 Pvj©‡mi m~‡Î 

 A¨v‡fvMv‡Wªvi m~‡Î 

 MÖvnv‡gi m~‡Î 

13. evqygÛ‡ji kxZjZg ¯ vb †KvbwU ? 

 Uª‡cvwùqvi 

 ÷¨©v‡Uvwùqvi 

 Avqbwùqvi 

 †g‡mvwùqvi 

14. 4 g nvB‡Wªv‡Rb M¨v‡mi Rb¨ Av`k© M¨vm mgxKiY †KvbwU? 

 PV=nRT 

 PV=RT 

 PV=2RT 

 PV=4RT  
15. wb‡Pi †Kvb M¨vmwUi e¨vcb nvi †ewk?   

 bvB‡Uªv‡Rb 

 nvB‡Wªv‡Rb 

 Aw·‡Rb 

 wg‡_b 

16. SATP †Z M¨v‡mi †gvjvi AvqZb KZ? 

 24.678 wjt 

 24.789 wjt 

 24.679 wjt 

 24.890 wjt 

17. Av`k© M¨vm mgxKiY w`‡q wb‡Pi †KvbwU wbY©q Kiv hvq? 

 M¨v‡mi e¨vcb 

 M¨v‡mi †gvjvi fi 

 M¨v‡mi Pvc 

 M¨v‡mi wbtmiY 

18. 27 wWMÖx †mjwmqvm ZvcgvÎvq Aw·‡Rb AYyi RMS †eM KZ? 

 432.81 m/s 

 481.62 m/s 

 483.62 m/s 

 842.43 m/s 

19. Av`k© M¨v‡mi ms‡KvPbkxjZv ¸bvs‡Ki (Z) gvb me©`v KZ? 

 4 

 3 

 ½ 

 1 

20. f¨vb Wvi Iqvjm mgxKi‡Y "b" aªyeK w`‡q wK eySvq? 

 M¨vm AYyi Pvc 

 M¨vm AYyi MwZkw³ 

 M¨vm AYyi AvqZb 

 M¨vm AYyi AvKl©Y kw³ 

21. wb‡Pi †KvbwU e‡qj I Pvj©‡mi m~‡Îi mgš̂q m~Î? 

 PV=nRT 

 P/V= aªyeK 

 V/T = aªyeK 

 PV/T= aªyeK 

22. 27 wWMÖx †mjwmqvm ZvcgvÎvq 16 MÖvg Aw·‡Rb AYyi MwZ kw³ KZ? 

 1862.92 Ryj 

 1856.62 Ryj 

 1870.65 Ryj 

 1678.69 Ryj 

23. wb‡Pi †Kvb weÁvbx cÖvY kw³ gZev` cÖeZ©b K‡ib? 

 Rb Wvëb 

 †d«‡WwiK †fvjvi 

 evi‡Rwjqvm 

 jW© †KwÛb 



24. •Re †h․‡Mi cÖvPzh©Zvi cÖavb KviY wK? 

 Kve©‡bi †hvR¨Zv 

 Kve©‡bis- AiweUvj 

 Kve©‡bi eûiƒcxZv 

 Kve©‡bi K¨vwU‡bkb 

25. wb‡Pi †KvbwU †m‡KÛvwi  A¨vwg‡bi Kvh©Kix gyjK?  

 -NH2 

 –NHR 

 -NR2 

 -CO-NHR 

 
26. wb‡Pi †KvbwU A¨vwmW RvZK bq?  

 A¨vwmW n¨vjvBW 

 A¨vwmW A¨vbnvBWªvBW 

 G÷vi 

 mvj‡dvwbK A¨vwmW 

27. wb‡Pi †KvbwU •Re †h․M bq? 

 wg‡_b 

 Bw_wjb 

 Kve©b g‡bv·vBW 

 BDwiqv 

28. wb‡Pi †KvbwU A¨vwj‡dwUK †h․M ? 

 UjyBb 

 A¨vwbwjb 

 †dbj 

 Bw_wjb 

29. wb‡Pi †KvbwU †n‡U‡iv cigvYy bq? 

 Si 

 S 

 N 

 O 
30. wb‡Pi †KvbwU Am¤c„³ †h․M ? 

 B‡_b 

 Bw_wjb 

 B_vbj 

 B_vbwqK A¨vwmW 
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1. What is the color of flame test of Na? 

a. Red   b. Brick red   c. golden yellow   d. violet 

 

2. Mass of alpha particle.........the mass of electron. 

a. Greater than   b. less than   c. much greater than   d. equal to 

 

3. In Rutherford α-particle scattering experiment detector screen contain the coating of ... 

a. PbS   b. ZnS    c. CaS   d.  FeS 

 

4. Which one is the composite particle? 

a. Positron 

b. Deuteron 

c. Gluon 

d. Electron 

 

5. Which one is the right for isotones? 

a. Proton number are same 

b. Neutron number are same 

c. Mass number are same 

d. Electron number are same 

 

6. Which orbital has the highest total energy? 

a. 2d 

b. 3s 

c. 3d 

d. 4s 

 

7. When electron of hydrogen molecule jumps to the third energy level a series of spectral line is seen, which is... 

a. Lymen series 

b. Paschen series 

c. Balmer series 

d. pfund series 

 

8. Bohr's atom model cannot explain the line spectrum of... 

a. He (+) 

b. Li (2+) 

c. Li 

d. Be (3+) 

 

9. What is the shape of d-orbital? 

a. Oval 

b. Circular 

c. Dumbbell 

d. Double Dumbbell 

 

10. Which one is the right for isotopes? 

a. Mass number are same 

b. Proton number are same 

c. neutron number are same 

d. none of the above 

 

11. which one is the representation of Dalton's law? 

a. P=(p1+p2+p3...) 

b. P=nRT/V 

c. P=X.p 

d. P=(n1+n2)RT/V 

 

12. In which law volume increases with temperature? 

a. Boyle's law 

b. Charles's law 

c. Avogadro's law 

d. Graham's law 



13. Which one is the coolest region of temperature? 

a. Troposphere 

b. Stratosphere 

c. Ionosphere 

d. Mesoshere 

 

14. Which equation is the ideal gas equation for 4g Hydrogen? 

a. PV=nRT 

b. PV=RT 

c. PV=2RT 

d. PV=4RT 

 

15. Which has more diffusion rate? 

a. Nitrogen 

b. Hydrogen 

c. Oxygen 

d. Methane 

 

16. In SATP molar volume of any gas is.. 

a. 24.678L 

b. 24.789L 

c. 24.679L 

d. 24.890L 

 

17. Which can be calculated by ideal gas equation? 

a. Diffusion of gas 

b. Molar mass of gas 

c. Partial pressure of gas 

d. effusion of gas 

 

18. At 27 degree celsius RMS velocity of O2 gas is.- 

a. 432.81 m/s 

b. 481.62 m/s 

c. 483.62 m/s 

d. 842.43 m/s 

 

19. For an ideal gas the value of Z is.. 

a. 4 

b. 3 

c. 1/2 

d. 1 

 

20. Constant "b" of Van dar Waal's equation expresses- 

a. Pressure of gas molecule 

b. Kinetic energy of gas molecules 

c. Volume of gas molecules 

d. Attraction forces of gas molecules 

 

21. Which one is the combined gas law? 

a. PV=nRT 

b. P/V=constant 

c. V/T=constant 

d. PV/T=constant 

 

22. What is the kinetic energy of 16g oxygen at 27 degree celsius? 

a. 1862.92J 

b. 1856.62J 

c. 1870.65J 

d. 1678.69J 

 

23. Which scientist proposed the vital force theory? 

a. John Dalton 

b. F.Wohler 

c. Barzelius 

d. Lord Kelvin 



24. Which is the main cause of abundance of organic compounds? 

a. Valency of carbon 

b. s-orbital of carbon 

c. Allotropism of carbon 

d. Catenation of carbon 

 

25. Which one is the functional group of secondary amine? 

a. -NH2 

b. -NHR 

c. -NR2 

d. -CO-NHR 

 

26. Which one is not acid derivative? 

a. Acid Halide 

b. Acid anhydride 

c. Ester 

d. Sulphonic acid 

 

27. Which one is not an organic compound? 

a. Methane 

b. Ethylene 

c. Carbon monoxide 

d. Urea 

 

28. Which one is aliphatic compound? 

a. Toluene 

b. Aniline 

c. Phenol 

d. Ethylene 

 

29. Which one is not a hetero atom? 

a. Si 

b. S 

c. N 

d. O 

 

30. Which one is unsaturated compound? 

a. Ethane 

b. Ethylene 

c. Ethanol 

d. Ethanoic acid 



ঢাকা কভা঳ স কলরজ 

১ভ ফল স পাইনার (৩য় ঩ফ স) ঩যীক্ষা ২০২০ ইং 

শ্রেণীীঃ একাদ঱  

বফলয়: জীফবফজ্ঞান ১ভ ও ২য় ঩ত্র                                       বফলয় শ্রকাড: ১৭৮ ও ১৭৯ 

঳ভয়: ৩০ বভবনট                                                                                   পূণ সভান: ৩০ 
ফহুবনফ সাচবন অবীক্ষা  

mwVK DËiwU jvj wPý K‡i †`qv n‡jv 

১।                          ? 

 )                                              খ)        ,                       

 )                       য়    যা        ঘ)           ,       য়   ও    য়  যা 

   

 ২। Poaceae  শ্রগালত্রয বফব঱ষ্ট্য শ্রকানটি?    

ক)  ঩যাগধানী বৃক্কাকায         খ) গব সমুন্ড ঩ারলকয ন্যায়         গ) অভযাবফন্যা঳ অক্ষীয়         ঘ) দর ভন্ডর ঩াকালনা   

   

৩। শ্রকানটিলক জীফন্ত জীফাশ্ম ফরা ঴য়? 

ক) Pteris            খ)  Agaricus                গ) Riccia             ঘ) Cycas  

     

৪।        য়                                                                খ?   

 )                    খ)                    )                      ঘ)       য়   

 

৫।                      ওয়        ?     

 )  Marchantia       খ)  Riccia         )  Microlepia        ঘ)  Drynaria 

 

৬। বনলচয শ্রকান উবিলদ ঩াাঁচটি উ঩বৃবত ও অ঳ংখ্য পংলক঱য বফদ্যভান?    

ক) Oryza  sativa         খ)  Zea  mays        গ)  Hibiscus rosa-sinensis         ঘ) Triticum aestivum 

 

৭। শ্রপায উৎ঩ন্নকাযী ঩াতালক কী ফরা ঴য়? 

ক) শ্রটাবভয়াভ      খ) অযানুরা঳         গ) কযা঩ব঳উর           ঘ) শ্রপালযাবপর 

  

৮। AUG  শ্রকাডলনয শ্রক্ষলত্র প্রলমাজয-  

ক) ট্রান্সবি঩঱ন শুরু কলয        খ) ট্রান্সলর঱ন ফন্ধ কলয        গ) শ্রভবথওবনন বনলদ স঱ কলয       ঘ) ট্রান্সবি঩঱ন ফন্ধ কলয    

 

৯। Pteris  এয কুন্ডবরত কবচ ঩াতালক বক ফলর? 

ক) ফ্রন্ড           খ) শ্রিাবজয়ায          গ) ব঩না           ঘ) ঱ল্ক঩ত্র   

 

১০।  ব঱ভ জাতীয় উবিলদয মূলর নাইলট্রালজন ঳ংফন্ধনকাযী ব্যাকলটবযয়া শ্রকানটি? 

ক)  Azotobacter         খ) Clostridium         গ)  Rhizobium         ঘ) Pseudomonas 

 

১১।        Malvaceae                          ?    

 )                য়                 খ)                            

 )           ,      পাাঁ঩া           ঘ)                    

 

১২। DNA      ঠ  নয় শ্রকানটি?  

    ক)                  ১                         

    খ)        ৩ ও ৫                           

     )                    2 nm 

    ঘ) নাইলট্রালজন ক্ষাযক - ইউযাব঳র উ঩বিত  

 

১৩। বনলচয  শ্রকানটি  বাইযা঳জবনত  শ্রযাগ  নয়?  

ক) বচকুনগুবনয়া       খ) টাইপলয়ড       গ) শ্রডঙ্গু       ঘ) ইনফ্লুলয়ঞ্জা 

 

১৪। শ্রকানটি ঳াইলটাপ্লাজভীয় বনজীফ ফস্তু? 

ক) যাইলফাল঳াভ       খ) রাইল঳ালজাভ       গ) এনজাইভ       ঘ) প্লাবটড 

 

১৫। পান স শ্রপ্রাথ্যারা঳  শ্রকান  বফব঱ষ্ট্য  ফ঴ন  কলয  না? 

ক) ঳঴ফা঳ী            খ) গ্যাবভলটাপাইটিক             গ) হৃদব঩ন্ডাকায            ঘ) একলকালী 

 

১৬।                      ?  

  )                       খ)                      )                     ঘ)      



১৭। ঘ    ড়  য়      খ                    ও       য়           –   

 )                   খ)                     )                   ঘ)         

 

১৮।             এয শ্রক্ষলত্র শ্রকানটি প্রলমাজয নয়?  

ক)                    য়    য়                 খ)                             গ) ২৩                   বনীঃসৃত ঴য়   

ঘ) অযারববউরা঳লক চু঩ল঳ মাওয়া শ্রথলক যক্ষা কলয না     

 

১৯। ভারব঩বজয়ান ফবড শ্রকান অলে ঩াওয়া মায়?  

ক)             খ)                 ) বৃক্ক          ঘ)  অ    য়  

 

২০। শ্রকান ঩লফ সয                   ও             ?   

 ক) Platyhelminthes           খ) Annelida            ) Mollusca       ঘ) Arthropoda   

 

২১।    য়                       ?  

   ) Volvox           খ) Julus              ) Pila           ঘ) Hydra 

 

২২।     CO2                 য়      ?  

ক)                       খ)                            গ)                             ঘ)                   

 

২৩।                    নয়?         

 )   খ      -               খ)       য়  -               )         -            ঘ)          -             

 

২৪। মূলত্রয pH= ? 

ক) ৪.৫       খ) ৭.০         গ)  ৮.৫         ঘ) ৬.৫   

 

২৫। ঘ    ড়                              ?  

 )               য়                      খ)     খ  খ            য় 

 )                                ঘ)                         

২৬।                         ?  

  )     য়  →       →    ও  →       ও         →       ও        →       ও    

 খ)       →     য়  →    ও  →       ও         →       ও        →       ও    

  )     য়  →    ও  →       →       ও         →       ও        →       ও    

 ঘ)     য়  →       ও        →       →    ও  →       ও         →       ও    

 

২৭।                           ঱            য়          ?   

  )      ঴ী            খ)                   )                               ঘ)                         

 

২৮।     খ         শ্রকানটি ঠিক?  

ক)                                               খ) ঩ালয় ৫টি কলয আঙ্গুর থালক      

গ)                                                     ঘ) ফব঴ীঃবনললক ঘলট    

২৯। যলেয শ্রকান উ঩াদালনয ভাত্রালক বৃলক্কয শ্রযাগ বনণ সলয়য বনলদ স঱ক ব঴ল঳লফ গণ্য কযা ঴য়?               

 )         য়      খ)  ঩টাব঳য়াভ         )  বিলয়টিবনন         ঘ)   শ্র঳াবডয়াভ              

৩০। অযাভাইলনা এব঳ড                                         +  (-NH2)   

     A                 -   

ক)                      খ)                       য় না        গ)                  ঘ) ইউবযয়া উৎ঩ন্ন কলয না   

 

উত্তযভারা:জীফবফজ্ঞান ১ভ ও ২য় ঩ত্র 

১ ২ ৩ ৪ ৫ ৬ ৭ ৮ ৯ ১০ ১১ ১২ ১৩ ১৪ ১৫ 

ঘ খ ঘ গ খ গ  ঘ গ খ গ  খ  ঘ খ  গ ঘ  

১৬ ১৭ ১৮ ১৯ ২০ ২১ ২২ ২৩ ২৪ ২৫ ২৬ ২৭ ২৮ ২৯ ৩০ 

ক  খ  ঘ  গ  ক ঘ   গ  ক  ঘ  গ  ক  ঘ  ক  গ  ক 
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Multiple Choice Question 

mwVK DËiwU jvj wPý K‡i †`qv n‡jv 

1. Which is the function of cell membrane? 

a) Produces lysosome 

b) Completes Crabs cycle, Electron transport system 

c) Helps in Photophosphorylation 

d) Helps in moving material into and out of the cell and maintains cellular homeostasis 

2. Which is the characteristics of family ―Poaceace‖? 

a) Reniform anther   b) Feathery stigma   c) Axile placentation   d) Aestivation twisted 

3. Which is called living fossil? 

a) Pteris          b) Agaricus         c) Riccia       d) Cycas 

4. Which part of the bacterium binds the flagellum to the plasma membrane of the cell? 

a) Slime layer     b) Short hook   c) Basal body    d) Nucleoid 

5. Which one is called liverwort? 

a) Marchantia        b) Riccia          c) Microlepia           d) Drynaria 

6. Which plant has five epicalyx and numerous stamens? 

a) Oryza sativa    b) Zea mays    c) Hibiscus rosa-sinensis     d) Triticum aestivum 

7. Which is the spore-producing leaf? 

a) Stomium      b) Annulus     c) Capsule     d) Sporophyll 

8. Applicable for AUG codon- 

a) Start the transcription         b) Stop the translation  

c) Indicate the methionine      d) Stop the transcription 

9. Which is the curled young leaves of Pteris? 

a) Frond       b) Crozier        c) Pinna       d) Ramenta 

10. Which is the nitrogen-fixing bacteria at the root of the beans plant? 

a) Azotobacter    b) Clostridium      c) Rhizobium    d) Pseudomonas 

11. Which is the identifying character of  family ―Malvaceae‖? 

a) Feather like stigma    

b) Tender part of the plant is mucilaginous    

c) Stem is cylindrical and hollow in the internodes 

d) Inflorescence is spikelet 

12. Which is not found in the structure of DNA molecule- 

a) The N2 bases are attached to the carbon no. 1 of the sugar 

b) The 3ʹ and 5ʹ ends of two helixes are carbon indicators 

c) Double helix diameter is 2 nm 

d) Nitrogenous base - Uracil present  

13. What is not a viral disease? 

a) Chikungunya       b) Typhoid         c) Dengue      d) Influenza 

14. Which is the cytoplasmic inorganic substance? 

a) Ribosome            b) Lysosome       c) Enzyme     d) Plastid 

15. Which feature is not present in fern prothallus? 

a) Bisexual       b) Gametophytic       c) Heart-shaped      d) Unicellular 

16. Which is the coelomate animal?  

a) Cockroach        b) Jelly Fish          c) Flat worm        d) Sponge 

17. Which is the chitinous, thick and hardened plates in the body part of grasshopper?   

(a) Plurite              (b) Sclerite                  (c) Starnite                (d) Tergite 

18. In case of surfactant, which is not correct? 

a) Lower the surface tension between two liquids      b) Destroy the germs   

c) Secret in 23 weeks old human embryo                  d) Don‘t prevent to shrink the alveolus 

19. Where is the Malpighian body located? 

a) Lungs      b) Liver     c) Kidney     d) Pancreas 

20. In which phylum, blood circulatory system and respiratory system absent? 

a) Platyhelminthes     b) Annelida       c) Mollusca       d) Arthropoda 

21. What is the example of radial symmetry?  

(a) Volvox           (b) Julus             (c) Pila        (d) Hydra   

22. Which is not the carrier of CO2 transportation in blood? 

a) Carbonic acid                   b) Bicarbonate compound     

c) Carbon monoxide            d) Carbamino compound 

23. Which one is not correct? 

a) The flame cells- Nematoda                  b) Nephridia- Annelida      

c) Radula- Mollusca                                 d) Haemocoel- Arthropoda 



24. pH of urine is-  

a) 4.5         b) 7.0          c) 8.5            d) 6.5 

25. Which is correct in the Superposition Image of grasshopper?  

(a) Clear image is formed                                   (b) Fragmentary image of the object is formed 

(c) Irish membrane remains compressed            (d) Retinal membrane is stretched out 

26. Which of the following flowchart is correct?  

(a) Trachia → Bronchii—Bronchiole-- Alveolar duct—Alveolar sac-- Alveolus 

(b) Bronchii-- Trachia-- Bronchiole-- Alveolar duct—Alveolar sac—Alveolus 

(c) Trachia—Bronchiole—Bronchii-- Alveolar duct—Alveolar sac—Alveolus 

(d) Trachia—Alveolar sac—Bronchii—Bronchiole—Alveolar duct—Alveolus 

27. In which following part, most of the glomerular filtrate is re-absorbed?  

a) Collecting duct                                b) Loop of Henle  

c) Distal convoluted tubule                 d) Proximal convoluted tubule 

28. In case of birds, which is correct? 

a) Four chambered heart present                  b) Leg consists of five fingers 

c) They are ectothermic                                      d) External fertilization occurs  

29. Which level of blood component is considered as an indicator of kidney disease? 

a) Ammonium   b) Potassium    c) Creatinine     d) Sodium   

30. Amino acid                       + (-NH2) 

‗A‘ marked substance in the reaction is- 

a) A keto acid                      b) Do not use in the production of energy      

c) Produce urine                  d) Do not produce urea 

 

 

 

Answer: Biology 

 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

d b d c b c d c b c b d b c d 

16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 

a b d c a d c a d c a d a C a 
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------------------------------------------------------------------------------------------------------------- 

1.       
 
 
   

 
 

√  √ 
           ? 

K) 
25a    L) 3   M) 

49a    N) 9 

2. 
20

1 cos6
lim

2x

x

x


                   ? 

K) 
49

6
   L)  9    M) 31    N) 12 

3.  x 10xf      ,    
0

lim
h

f x h f x

h

 
          ? 

  K) 10x

   L) 
110x

   M) 10 ln10x

  N) 1010 logx e  

4.               , 
  

  
          ? 

  K) tan x   L) 
180

cot x
 

  M) 
180

tan x
 

   N) cot x  

5. 
1

2

10
tan

1 25

x
y

x




    , 

dy

dx
         ? 

  K) 
2

10

1 25x
  L) 

2

5

1 25x
  M) 

2

5

1 5x
  N) 

2

10

1 10x
 

6.  
1tan xf x x



     , ( )f x           ? 

  K) 
1

1
tan

2

tan

1

x lnx x
x

xx


 

 




 
   

L) 
1

2

1
tan t

1

anx lnx x
x

xx


 

 




 
  

M) 
1

2

1
tan ta

1

nx lnx x
x

x x


 

 
 

  

N) 
1

2

1
tan ta

1

nx lnx x
x

x x


 

 
 

  

7.  hw` ( ) 2f x x  Ges ( ) xg x e  nq, Zvn‡j 
dy

dx
           য়   । ‡hLv‡b, ( )( )y gof x . 

  K) 2 xe   L) 
2

2

xe

x
  M) 

1

2 x
  N) 

x

x

e
 

8. hw` ( ) 2f x x  Ges ( ) xg x e  nq, Zvn‡j 6y     য়   । ‡hLv‡b,  ( )y g x  . 

  K) 
xe   L) 

xe
   M) 6 xe

   N) 6 xe  

9. 
22y x      খ    2, 3                         ? 

  K) - 8   L)  - 4   M) 4   N) 2 

10. x                    3 23 45 13f x x x x                  ওয়      ? 

  K)  2, 5   L)  -3, 5  M) -1, -6  N) 1, 6 

11. x                   

1
y x

x
  Gi Xvj k~b¨ n‡e? 

  K) 
3

2
    L) 2    M) 1    N) 1 

12. 
xy e eµ‡iLvi (0,1) we›`y‡Z ¯úk©‡Ki mgxKiY wbY©q Ki 

  K) 1y x    L) 2 xy x e    M) 1y e    N) 1y x    

13. hw` ( ) ln(1 3 )f x x   nq,  Zvn‡j (0)f   Gi gvb KZ? 

  K)  2   L)  3   M) 
1

2
   N) 

1

3
 

14. Ggb GKwU eµ‡iLvi mgxKib wbY©q Ki hv (1, 2) we›`y w`‡q hvq Ges D³ we› ỳ‡Z hvi Xvj 5. 

  K) 
22 1y x x     L) 

22 3 2y x x    M) 
22 1y x x    N) 

22 2 1y x x    



 

15. hw` lny x  nq, Zvn‡j 
dx

dy
 Gi gvb KZ? 

  K) 
ye    L) 

xe    M) 
1

x
   N) 

1

y
 

16. hw` ( ) lnf x x  Ges 
2( )g x x  nq, Zvn‡j ( )(1)fog  Gi gvb KZ? 

  K)  0   L) 1   M) ln x    N) 1  

 

17. hw` ( ) lnf x x  Ges 
2( )g x x  nq, Zvn‡j ( )( )fog x †Wv‡gb KZ? 

  K) (0,1)   L) (0, )   M) ( , )    N) ( ,0)  

18. ( )f x x  n‡j 
1(2)f 

 Gi gvb KZ? 

  K)  4   L) 3   M) 2   N) 0 

19. hw` {( , ) : }X x y x y   nq Zvn‡j X GKwU- 

  K) ïaygvÎ dvskb  L) GK-GK dvskb  M) Ašq̂   N) GKK dvskb 

20. hw` ( )f x x  nq Z‡e ( )f x  Gi †iÄ KZ? 

  K) (0, )   L) [0, )   M) ( , )    N) None 

21.
2( ) 2f x x x   Ges 

2( ) 9g x x   n‡j, ( ( 3))g f  Gi gvbÑ 

  K)  0   L) 1   M) 
1

2
   N) -1 

22. 
1

( )f x x
x

   n‡j, 
1

( )f x f
x

 
  

 
=? 

  K) 1   L) 0    M) 
2x    N) 

1
x

x
  

23. ( ) 2 3f x x   n‡j, Gi wecixZ dvskb KZ? 

  K) 
1

( 3)
2

x    L) 
1

( 3)
2

x    M) 3 2x   N) 3 2x   

24. :f   dvskbwU
3( ) 4f x x   Øviv msÁvwqZ n‡j 

1(31)f 
Gi gvb †KvbwU? 

  K) 2    L) 2 3   M) 3 3    N) 3  

25.
3

( )
2

x
f x

x




  

n‡j- 

i. (0) 3f    

ii. ‡Wvg f = { 2}   

iii. ‡iÄ f = {1}  

 wb‡Pi †KvbwU mwVK? 

  K) i, ii   L) i, iii   M) ii, iii   N) i, ii, iii 

26. c¨vm‡K‡ji wÎfyRwUi PZy_© mvwi‡Z KZ¸wj Dcv`vb i‡q‡Q? 

  K)  3   L) 4   M) 5   N) 6 

27.  
4

2x y  Gi we¯Í…wZ‡Z Z…Zxq c`wU KZ? 

  K) 
2 224x y   L) 

2 212x y   M) 
332xy   N) 

332x y  

28. 

8

2

2

1
2x

x

 
  

 
 Gi we¯Í…wZ‡Z x ewR©Z c‡`i gvb KZ? 

  K) 16

8C    L) 16

9C    M) 8

4C    N) 8

5C  

29. 

8

2

2

1
2x

x

 
  

 
 Gi we¯Í…wZ‡Z ga¨ c`wU nj- 

  K) lô c`  L)  mcÍg c`  M) Aóg c`  N) beg c` 

30. 

20

2

2

1
x

x

 
 

 
 Gi we¯Í…wZ‡Z- 

i.   ga¨c` GKwU 

ii.   x ewR©Z c‡`i gvb
 

20

10C  

iii.  c` msL¨v nj- 21 

 wb‡Pi †KvbwU mwVK ? 

  K) i, ii   L) i, iii   M) ii, iii   N) i, ii, iii 
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1. What is the value of        
 
 
   

 
 

√  √ 
 ? 

a) 
25a    b) 3   c) 

49a    d) 9 

2. What is the value of   
20

1 cos6
lim

2x

x

x


? 

a) 
49

6
  b) 9    c) 31    d) 12 

3. If  x 10xf  , then find the value of     
0

lim
h

f x h f x

h

 
? 

a) 10x
  b) 

110x
   c) 10 ln10x

  d) 1010 logx e  

4. If          , then what is the value of 
  

  
 ? 

  a) tan x   b) 
180

cot x
 

  c) 
180

tan x
 

   d) cot x  

5. What is the value of 
dy

dx
 if 

1

2

10
tan

1 25

x
y

x




? 

  a) 
2

10

1 25x
  b) 

2

5

1 25x
  c) 

2

5

1 5x
  d) 

2

10

1 10x
 

6. If  
1tan xf x x



  then what is the value of ( )f x ? 

  a) 
1

1
tan

2

tan

1

x lnx x
x

xx


 

 




 
   

b) 
1

2

1
tan t

1

anx lnx x
x

xx


 

 




 
  

c) 
1

2

1
tan ta

1

nx lnx x
x

x x


 

 
 

  

d) 
1

2

1
tan ta

1

nx lnx x
x

x x


 

 
 

  

7. If ( ) 2f x x  and ( ) xg x e  then find 
dy

dx
when ( )( )y gof x  

  a) 2 xe    b) 
2

2

xe

x
  c) 

1

2 x
  d) 

x

x

e
 

8. If ( ) 2f x x  and ( ) xg x e  then find
 6y when ( )y g x  . 

  a) 
xe    b) 

xe
   c) 6 xe

   d) 6 xe  

9. What is the slope of the tangent of the curve 
22y x  at  2, 3  ? 

  a) - 8    b) - 4   c) 4   d) 2 

10. For which value of x the function   3 23 45 13f x x x x     has an extreme value? 

  a) 2, 5   b) -3, 5   c) -1, -6   d) 1, 6 

11. For which value of x the slope of 
1

y x
x

  is zero? 

  a) 
3

2
    b) 2    c) 1    d) 1 

12. Find the equation of tangent at the point (0,1) of the curve
xy e . 

  a) 1y x    b) 2 xy x e    c) 1y e    d) 1y x    

13. If ( ) ln(1 3 )f x x  , then find the value of (0)f  . 

  a) 2   b) 3   c) 
1

2
   d) 

1

3
 

14. Find the equation of a curve that passes through the point (1, 2) and the slope is 5 at that point. 

  a) 
22 1y x x     b) 

22 3 2y x x    c) 
22 1y x x    d) 

22 2 1y x x    

15. If lny x then what is the value of 
dx

dy
? 

  a) 
ye    b) 

xe    c) 
1

x
   d) 

1

y
 



16. If ( ) lnf x x  and 
2( )g x x then ( )(1)fog =? 

  a) 0   b) 1   c) ln x    d) 1  

 

17. If ( ) lnf x x  and 
2( )g x x then find the domain of ( )( )fog x . 

  a) (0,1)   b) (0, )   c) ( , )    d) ( ,0)  

18. If ( )f x x , what is the value of 
1(2)f 

? 

  a) 4   b) 3   c) 2   d) 0 

19. If {( , ) : }X x y x y   then X  is a – 

  a) function only b) one-one function c) relation  d) Identity function    

20. The Range of ( )f x x is- 

  a) (0, )   b) [0, )   c) ( , )    d) None 

21. If 2( ) 2f x x x  and 
2( ) 9g x x  then ( ( 3))g f  =? 

  a) 0   b) 1   c) 
1

2
   d) -1 

22. If 
1

( )f x x
x

   then 
1

( )f x f
x

 
  

 
=? 

  a) 1   b) 0    c) 
2x    d) 

1
x

x
  

23. If ( ) 2 3f x x   then 
1( )f x

is- 

  a) 
1

( 3)
2

x    b) 
1

( 3)
2

x    c) 3 2x   d) 3 2x   

24. If :f  is defined by 
3( ) 4f x x   then find the value of

1(31)f 
. 

  a) 2    b) 2 3   c) 3 3    d) 3  

25. If 
3

( )
2

x
f x

x




  

then 

iv. (0) 3f    

v. Domain of f is { 2}   

vi. Range of f is {1}  

      Which of the following is correct? 

  a) i, ii   b) i, iii   c) ii, iii   d) i, ii, iii 

26. How many elements are in 4
th

 line in Pascal‘s triangle? 

  a) 3   b) 4   c) 5   d) 6 

27. Which is the 3
rd

 term in the expansion of  
4

2x y ? 

  a) 
2 224x y   b) 

2 212x y   c) 
332xy   d) 

332x y  

28. In the expansion of

8

2

2

1
2x

x

 
  

 
 which is the value of term independent of x? 

  a) 
16

8C    b) 
16

9C    c) 
8

4C    d) 
8

5C  

29. In the expansion of

8

2

2

1
2x

x

 
  

 
, the middle term is- 

  a) 6
th

 term  b) 7
th

 term  c) 8
th

 term  d) 9
th

 term 

30. In the expansion of 

20

2

2

1
x

x

 
 

 
- 

i. number of middle terms is 1 

ii. the term independent of x is 20

10C  

iii. number of terms is 21 

      Which of the following is correct? 

  a) i, ii   b) i, iii   c) ii, iii   d) i, ii, iii 

 

Answer Key: Math 

 

1 2 3 4 5 6 7 8 9 10 

c b c b a d b b a b 

11 12 13 14 15 16 17 18 19 20 

c a b a a a b c c b 

21 22 23 24 25 26 27 28 29 30 

a b a d c b a a d d 

 

 


